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. ords of a factory .
Q.24. The following particulars are obtained from C:::;ﬂ;;. Product ‘B’
Per Unit (3) ol
440 |
Selling Price 80
Material (T 40 per litre) 100
Labour (Z 20 per hour) 40
Variable overhead

Q.25.

Q.26.

Comment on the profita

Labour hours are limited
Sales quantity is limited
Sales value is limited.

h N =

From the following data, recommend the most profi

Raw Material is in short supply.

bility of each product when .

table product miX, presuming that

direct labour hours available are only 700. Broduct
A B
ibuti [ T30 20
Contribution per unit |
Direct labour per hour per unit 10 hrs. 5 hours
is 100 units.

The maximum production possible for each of the products A and B
A farmer ask your recommendation for optimal mix of production for the coming year. The

current data is given below .
ITEMS PRODUCED

A B c D

Area occupied (acres) 25 20 30 25
Yield per acre (tonnes) 10 8 9 12
Sale price per tonne (%) 1,000 1,250 1.500 1,350
Variable cost per acre
Material () 700 600 950 900
Labour () 2,000 2,500 3,000 3,700
Variable overhead () 2,000 2,000 2,000 2,000
Fixed Overhead 4
Cultivation and growing 1,00,000
Harvesting and transport 240,000
Land revenue 90,000
Administration 1,10,000

5.40,000

The land which is being used for producing items A and B can be used for either items

but not for items C and D. The land which is being used S
be used for either items but not for items A and B:g for producing items C and D can

In order to provide adequate market service. th
, the farm
40 tonnes each of A and B and 36 tonnes each of G and b

You are required to calculate the following :

a) The profit during the year before your recommendation: and
b) The profit during the year after your recommendation |

produce each year at least
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Q.29.
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(25% fixeq) " or & motor component. The
Expenses 3 270
Variable 1BEH S
Eixed PET unit
90 per unit
(@) The Purchase 135 per unit
component aizM;rE]agBEr: has ap Offer f Total 875 per unit
. ro |
(b) Assume the Ould the compon ™ @ supplier who is willing to supply the

component’
In the la _ _ s manufacture are to be used t
Her case material price will he selling price is 7 485. e

produced, at the sa be g2 ~
would be aduisablem; c;it ?tﬂﬁiis as abu*.?eu fgfrl;hr:::t rgn'ﬂm urits of this product €an be
. ert the and expenses. Discuss whether it

reso
be purchased f ponent presently ET:EE to manufacture that new product, on the
rom the market. Ing produced would, instead of being produced

Product for which t

A British Company i _
_ S pla :
mineral water. pianning to establish a subsidiary company in India to produce

Based on the estimated
! annual sales of 4 - |
produced the following estimates for the m%ﬂﬂusﬂﬂgiﬁf 'mE rineral waler, cost studles

Total Annual Cost Per Cent of Total
. X) Annual Cost that is variable
Taterlal 1,893,600 100 %
abour 90,000 70 %
Overhead 80,000 64 %
Administration 30,000 30 %

The Indian production will be sold by manufacturer's representatives who will receive a
commission of 8 per cent of the sale price.

It is required to : | |
Compute the sale price per bottle to enable management to realize an estimated 10 per

cent profit on sale proceeds in India, and
Calculate the break even point in rupee sales
that the sale price IS Z 11 per bottle.

for the Indian subsidiary on the assumption

buy Machine A or Machine B. The relevant data

Flex Ltd. has been offered a choice to
are given below. Machine A Machine B
: 20,000 20,000
Annual output (In units) 230,000 Z 16,000
7 90,000 ¥ 64,000

Fixed cost
Profit at the @

yction

bove level of prod _
ed tobe? 10 per unit

[ ct
gales price of the product 1S expe

You are required 1 cq:np;:e.

k-even quantl yl i
; E;iaei of sales at W lc_h both :E:En :Iﬂ e oftable m
Sl Range of sales @ hich Ma hine A is more profitable
4. The level of s

b

L
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Q.30 A Company has compiled the following data for preparation of I:vut:lgt‘-.“.;‘:II rgrd 29

o 4 uoE 0 C

8.000 () 6.00
Sales Per Month (Units) 7 / Unit T/ Ugg T/ Uniy

4
Selling Price 23 48 100
Direct Materials 40
Direct Labour: Rate / Hour
Dept. ale

1 ¢ - 5.00 5 13 20
2 4.00 g 12
Variable Overheads l§

Fixed Overheads T 1,50,000 per month. Jlan was approve d for improving

After the budgeted was discussed the following action

the profitability of the company.

(i) Direct labour in department 1 w
extent of 55,000 hours.

(i) To boost sales, an advertisement progr
¥ 18,000 per moenth. | |

(i) The selling prices should be reduced by, A:2 7 % B:8 %%, C:1%

(iv) The sales targets have been increased and the sales department has confirmed that

the company will be able to achieve the following quantities of sales. |
A : 12,000 units B : 6,000 units C : 10,000 units

hich is in short supply is available to the maximum

amme should be launched at a cost of

Required:

(i) Compute original monthly budgeted profit.

(i) Set an optimal product miX after taking action plan into consideration and determine
its monthly profit.

(iii) In case the requirement of direct labour hours of department 2 in excess of 40,000
hours is to be met by overtime working involving double the normal rate, what will be

the effect of so working overtime of the optimum profil calculated by you in (i) above.

The Chief Cost Accmtxrptant of Vikas Limited found to his surprise that the actual profit for
the period ending 30" June, 2013 was the same as budgeted inspite of realizing 10%
more than the budgeted selling price. The following were the results:

Particulars Budget Actuals
Sales 5,00,000 8,25,000
Variable costs of sales 3,00,000 5,75,000
Fixeq Costs 1,00,000 1,560,000
Profit 1,00,000 1,00,000

You are required to assist the Chief Cost A [ '
| _ ccountant in preparing th
explanations as to why the profit remained the same despite an I?nc!?easma-gint SZIEFIEECEESEW

A company currently operating at 809 ' : :
}3{ Gt 4 /o capacity has the following particulars:

Direct Materials ?gggggﬂ
Direct Labour pg
Variable Overheads Mo
Fixed QOverheads éggggg

An export order has been received th i
at would .
the order cannot be split, i.e., it has either to bLlja-uItl::errllailrz le o' Chpashy of the Fackx,

the normal domestic prices, or rejected totally. and executed at 10% below
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A Conyj e
e e e
Omestic 4 Pacity eSlic s
€Man e n €S only; (as al pr
3. Increase capacity gq 0 Overseas gng doreer present), or
sales by — 3 to a0, - estic sales and turn away
a) Buyi ® Sxport
? in:ilgseanfequipment that wi| ; 9er and maintain the present domesti
(b) Work uv;ti;;'?u’ ol “x:t:”n:;fa“ “aPacily by 10% This will resylt
: . and esult in an
n . C& o
Prepare @ Nalftimes the rnurrwi.e?:ﬂr'm“':“:i Sapacily. In that case labour will be

A company owns follg

a)

acom '
Parative Statemen wage rate.

t of profi
Plant A - |t prog oo ree plants

uces g
when 15,000 units are pr';rc?l.?;:c; ti?t x40 el of oo COStS T 42.50 per writ

unitis ¥ 38.12 - a pr |
5. What IS the break-evenppuuﬁ]ﬁ'nmrﬂ;z::lamdz'nrum s, the cost per
nd in units

Sales Ost eslimales are as follows

Fixed cost T 10,00.000
Variable cost ;UU-“UH

Head Office allocateq 20,000

Loss 3,50.000 10,50.000

50,000

Sale - -
s of Plant B is under Consideration. What is your recommendation based on

the data given 7

Eua;\.::- = It produces one product : the budgeted income and cost estimates are as

3 4
Sales (Annual) 10,000 units @ T 200/unit 20 00,000
Cost:
Fixed 7.47.500
Variable 13,50,000
Head Office allocated 5,02,500 Eg Eg ggg
Loss 00,
How many additional unils must be manufactured in the Plant in order to break-
even 7

capacity of 1.00,000 units of a product. It is currently

+ X Ltd. is having an jﬂﬁl{alre{jIili.::.':':t:c:ln. The capacity utilization and cost per unit is

operating at 70% ca

pacity u

) W | Cost per unit
mentioned belo Capacily Utiisation g 97
70 %
¢ 52
80 7o 2 87
g0 % < 82

100 %

cewved thré€ offe

different SOUICES as under

from
b ts al T 55 per unt

ny has € 5000 unl
The compd y A - 00 units at T 52 per unit
Source _ 10.0 X at 2 51 per umit
0 units
source B _ 10,00 1 orders should be accepted or not.
source C | the exP
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Q.35

Q.36

Q.37

nagement '
There are two similar plants under the same manaQEmﬂigE;hE manay desires tg
merge these two plants. The following particulars are ava

Eactory | Factory il
60%
_ 100%
Capacity Operation # 300 lacs T 120 lacs
Sales < 90 lacs
, T 220 lacs
Variable Costs < 20 lacs
| Z 40 lacs
Fixed Costs

You are required to calculate (a) composite B.E.P.. and (b) what would be the profit o
working at 75% of the merged capacity.

ABC Ltd., which produces three products, furnishes the following data for the year 2011:

Product
Alfa Beta Gama
75 5
Selling Price per unit g 102? 20% 40;
Profit/Volume Ratio 401003 25 000 10,000
- ial (units ' ' '
Maximum Sales Potential (units) E0% 50% 50%

Raw Material as % of Variable Cost

The company uses the same raw material for all the three products. Baw material is in
short supply and the company has a quota for supply of raw mate_rlal of the vaiu:a of
Z 18,00,000 for the year 2011 for manufacture of its products to meet its sales. Total fixed

cost is T 6,80,000.

You are required to . | .
(a) Determine a sales mix which will give the maximum overall profit keeping in view the

short supply of raw material.
(b) Compute that maximum profit.

The cost data are as under:;

A B C
Direct Materials 4 64 192 117
Direct Labor
Dept. Rate per hour Hrs. Hrs. Hrs.
1 5 18 10 20
2 6 S 4 7
3 4 10 5 20
Variable Overheads X 16 9 21
Fixed Overheads < 4,00,000 per annum

The budget was prepared\at a time, when the market was sluggish. The budgeted
quantities and selling prices are as under:

Product Budgeted Qly. Selling Price (X )/ unit
A 9,750 270
B 7,800 280
C 7,800 400

Latter the market improved and the sales quantities could be

product A and 25% each for products B and C. The sales ma

increased quantities could be achieved at the prices originally hr:jadggeert:; n‘?;lze;rntzﬁtctligﬁ
manager staled that the output cannot be increased beyond the budgeted level due to
limitation of direct labour hours in Department 2, )

Required:

(U Present a statement of budgeted profitability.

() Set optimal product mix and calculate the optimal profit

Increased by 20% for
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s. 10
‘Materials per unit
[DJ. Labour per unit A SAR K MEHTA |
Deptt. 1 64 B
Deptt. 2 9 152 C
Deptt. 3 38 117
V. overheads per unit 40 20
yariable cost per unit 16 <A 13”
gelling price per unit EIE <0 aﬁ
~ontribution per unit 270 5—-595 21
30 280 360
i) statement of Budgete _ = 400
[ Product d me'tahilit 25 40
A nits Contri o
3 9.750 Por umtﬂﬂtﬂhutlun
C 7,800 30 Total
000
() Fixed Cost 1.99.50{1
' Budgeted | . 4.00.000
(il Blll?rnduﬁ:t abour hﬂursuuf-tne it. 2 Profit 3 99 500
nis
A Per uni
- g;gg El'ﬁllnll 7ol
C 7,800 4 33200
| ! 54';33
contribution per labour hr. in Deptt. 2 1,34 550
Contribution per unit :D B C
Labour hrs. per unit in Deptt. 2 5 245 40
Contribution per labour hr. in Deptt. 2 !
Ranking P ﬁ 02D 5-1;1
Revised estimation of maximum roduction
A=9750 plus 20% = 11,700 units
B =7,800 plus 25% = 9,750 units
C=7,800 plus 25% = 9 750 units
Most profitable roduct-mix
Labour hrs. (Deptt. 2)
Product Units Per unit Total
A 11,700 (Max.) i ggggg
Max. -
g 59.',2?9530 ( ) 7 37.050 (Balance)
. 1,34.550
Computation of maximum n_u-fit W"tribmm:ﬂ - Total
Product Units 30 3.51,000
A 11,700 25 243,750
B 9,750 40 211,720
C 5,293 806,470
_ 4.00,000
(-) Fixed Cost orofi 4,06,470
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. | for the two years.
Q.38 PQR Ltd. Has furnished the following data 2006-07 2007-08
Sales 7 8,00,000 ?
o Ratio 50% 37.5%
M.S. Ratio okl 21.875%

There has been substantial saving in fixed costs In the y

process. The company could maintain its sales quantity

reducing the selling price.
Calculate :

(i) Sales for 2007-08

(i) BEP for 2007-08

(iii) Fixed cost for 2007-08

ear 2007-08 due to restructuring
level of 2006-07 in 2007-08 by

s. Data relating to the months of

Q.39 Super Products Ltd. prepares monthly income statement
' iven below:

March and April, 2012 are g aaach April
- Nil 150 units

Invento ‘ _
Er?:?jﬂgt?un ! 500 units 400 unis
Sales 350 units 520 units

Variable Cost data:

Manufacturing cost per unit produced 3 10,000 ? 10,000
Selling cost per unit Sold T 3,000 X 3,000
Fixed Cost Data: |
Manufacturing Costs < 20,00,000 < 20,00,000
Selling'Casta Z 6,00,000 T 6,00,000

Selling Price per unit < 24,000
Stocks are valued on FIFO basis

Prepare:
1.
2.

Income statements for March and April under Marginal Costing;
Income statements for March and April under Absorption Costing.

Q.40 You are given the following information relating to the years 2010-11 and 2011-12
2010-11 201112
Opening stock (units) — 300
Production (units) 1,200 1,400
Fixed cost X 2,00,000 < 1,20,000
Variable cost X 1,580,000 X 2,80,000
Sales (units) 800 | 1'100
Selling price (T / per unit) 400 '500
Closing stock (units) 300 600

Compute profit using FIFO under marginal

Q.41.

costing and under absorption costing.

A_qurnpany has standard annual production cg
utilization is 90%. Variable production cost is 2
are T 2,70,000. Variable selling
X 1,35,000 per annum. Selling pri
produced and 70,000 units were s

pacity of 1,00,000 units. Normal capacity
; 12 per unit. Annual fixed production costs
Cosis are X 2 per unit and fixed selling costs are

C€ per unit is ¥ 25. During the year 80 its were
old. Closing stock was 15,000 Ur};its. 000 units w

Prepare income statement using (a) marginal costing, and (b) absorption costing
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Marginal Costing

Contribution 5. Cvp
Differential Cost 5 kN Rato,
- BE.
5 P.

: - Margin of g
Marginal Cost - g ' alety
overheads. A t: It means tol | Angle of incidence

, - ACCOrding tq 3l variable g

costs change if the umuamuum al any gy

Comprising prime cost :

S and variable

ELESU1M3“39Ement Accountants, London,
oluime of output by which aggregate

i . Put is |
;Hnadr ‘rl" :a[l:l Costing : |5 Marginal > Increased or decreased by one unit

ixed cost. Fir al costing, ¢ |
equations : st of all Eﬂntribuligﬁ olal cost 1s segregated into variable cost

, IS calculated wi )
C ST 1 with the help of followin
Sninbution = Selling Price — Variable Cost g

After calculatin :
. g contribution
Profit = Contribution — Fi*xh:; é?:rs]lcalm

Contribution : The differ

el oLt - ence betw
cnntrfhut!on* For example, if S.P. p; i?‘ii
contribution per unitofZ (18 -12)=26.

ate profit as follows °

production cost and fixed
of the volume of output.

the selling price and the vanable cost IS
tis ¥ 18 and V.C. per unit is ¥ 12, we get

The knpwledge gf t:pntributiun per unit is a valuable information to the management
for decision making in following ways .

a) Wﬂ”E EDﬂEidEfing the acceptance or rejection of a new order, the course of
action which yields greatest contribution will be most profitable.

b) In the selection of a product mix, the products which give maximum
contribution margin should be preferred.

While choosing from among alternative methods of production, the method
which yields the greatest contribution is to be adopted keeping in mind

various other key factors.

Differential Cost : It means the Increase or
___-———___-. : .
adoption of an alternative COUrSE of action.

incremental cost of decremental cost Incéeénez?emental e
due to increase in level of production an

costs due to decrease In level of production.

d

" . of an undertaking depen

lysis : Profits 0l €% - mos
E;Ew?:ga three factors 2r€ considered to be the

Manufacturé

C)

decrease in total cost that results from

This type of cost can either be the
tal cost means the increase in cosis
means the decrease in

s on a large number. of factors.
t important factors

iy Volume of Sales _
{) Profit d dependenl on one another. The EII'LE'I'?\‘SIS
(i) Fro nnected an it planning cost control and decision-
These threie fﬂ;“:r’m prﬂft is impo Q{t;;;ﬁrnpép in the preparation of flexicie oudget
of cost, volum « also of SP

' - of activity.
making. This ana Yf nd profit qt various levels

indi 3 ability of business. This ratin
which indicates €0° Jetermining e profitabilly Of BUSTER L - sed in

e n
——— | | uide 1 wytion and sales a
pP/V Ratio : It is an usefu tg;etween o rioul
shows (he relaliunshi
percentag®:
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P/V Ratio is calculated as follows :
Contribution
x 100

Sales
Where contribution

d cost + profit)

: | cost is equal to Tota)
. It refers to that point where Fn_ta : )
o profit no loss. This IS the minimum point of production
d. It is calculated as follows .

= (sales — variable cost) O (fixe

7. B.E.P. (Break Even Point)
Revenue, i.e. it is a point of n
where total costs are recovere

Total Fixed Cost
Contribution per unit

Total Fixed Cost
P/V Ratio

In Units =

In Value =

: : - les and sales at break-even

8. Marqgin of Safety : ItIs the difference between actual sa il ‘

point. A company whose sales volume is just equal to t!"se I;:realc—even point Is making
no profit, no loss. Therefore, margin of safety at B.E.P. is nil.

soundness of business. If the

The amount of Margin of Safety indicates the
's much below the actual sales so

margin of safety is high. It shows the B.E.P. _ :
that even if there is a fall in sales, there will still be a profit. If the margin of safety

is small, any fall in sales may be of serious maiter.

9. Angle of Incidence : On the break even chart, where total sales line cuts the total
cost line. an angle is formed. This angle provides useful information about the rate at

which profits are being made. The large angle of incidence together with a high
margin of safety indicates an extremely favourable situation.

Q.2. Distinguish between Absorption Costing and Marginal Costing.
1. Absorption Costing is a total cost technique, whereas in Marginal Costing, only
variable costs are charged to products.

2. In Absorption Costing, the stock valuation is done on total cost basis which includes
both variable and fixed cost. In marginal costing, the stock valuation is done at

variable cost only. This results in the higher valuation of stocks in absorption costing.

Ans.

3, In Marginal Costing, since fixed overheads are not included i '
. ed in the cost of production
any under-recovery or over-recovery of overheads does not arise. P cton.

In Absorption Costing there | ibili
- 55. g e is every possibility of under-recovery or over-recovery of

4. In Absorption Costing the decisions are tak .
i - . en on the basis of | i
marginal costing, the decisions are taken on the basis of cuntributigl:mlt' W

Q.3. Explain the similarities and diff :
Costing. erences between Marginal Costing and Differential

Ans.: Similarities :
1. Both are based on classification of '
total cost into fi '
cosls do not change, both differential cost and marg;ili:r::i: :ll:leazfmc: ot When fe?

2. Both are the techniques of '
: cost analysis :
management in formulating policies and rr}::alﬁimgE| gicigli’zﬁematmn S e nos =
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(cosTA
| Differences \\

E - R il — - e cem— — i T
pa l " dlﬂEr,Enh ] I:].I:Eutd:u frulli margilial COos
. n marglnal c " |lalygi3 tin wh i
tri : | Dlstln : : I . g areas relevant fixed cost is

differentia Merany n
| cost ang uiﬂere:ft:al‘-‘-rusti 1 Enrc":f}r'";;n the basis of PV Ratio and
BVeNnUe for deme:. ! 50N 1S made between the
a4. Whatlis “Progyce Cost” " decision-making
costing and Marginal t angd “Periog
‘:Uﬂtlng 2 Cnsrsn ? HD
Ans.:. Product costs are ty W are they treated in absorption

: : OSe ¢ :
incurred if there s Osts which

. n ar
Variable Overheads_u e, o oot

costing, only prodyct

(fixed cost) is not ing| ade on the basis of total cost. In marginal

ElI:E:d as cost of products while period cost
On is made at variable cost only.

Cost (variab)

Uded, henc: Cost) are tre

+ Stock valuati
a5. What are the varioys Ways in whj

Ans.; Marginal costing is g v
are few of thE,-E ﬁaunsae h,;l -tEIEh"iqUE of decision-making for the management. The
costing technique: gerial problems which are simplified by the use of marginal

1. Pricing of Product :

Under normal circum
~ stan i
profit may be earned BUTEE- the F‘I'ICE{ nfg product must be above total cost so that
total cost but above margi under certain circumstances, price can be fixed at below
incurred:; V€ marginal (variable) cost, This is so because fixed costs has to be
€d irrespective of whether production continues or not.

2. Make or buy decisions :

This dE{cisiun‘is taken bg comparing the supplier's price with the variable cost of
production. Fixed costs is sunk cost and is not important for decision making.
However, this decision is influenced by the fact whether or not the capacity released

by non-manufacture of the part can be used profitably somewhere else.

3. Suitable Product Mix :
Normally a product which yields th
profitable. However, if any key factor
yields the highest contribution per unit
4. Alternative Methods of Production :
If a new product have been develope

[ ine or to manu
roblem of employing 2 machine 0
ﬁ'lanagernent should select that method W

keeping in view, the other key factors.
e business . N |
ol et r n:;pw::;(::g till the sales revenue is sufficient to cover following two
A firm can conlin

types of cost: t
iable C0S i
E; ;:;Iess of fixed coStS over shut-down €0

se costs which @

e maximum contribution is considered to be most
or limiting factor is prevailing, the product which
of key factor is considered the most profitable.

d and the management is faced with the
facture it entirely by manual labour. The
hich yields the greatest contribution,

firm IS pound to Incur even if plant is closed down.

Shut down costs are tho
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6. How can marginal costing be helpful in cost control 7 e, total cost s dividec
1s..  Marginal costing is very useful for controliing costs. In this tetﬁenrlr?anégement 6 know the
into fixed cost and vanable cost. This classification enables re i he past data. This
behaviour of costs. Such behaviour of cost IS cnmpﬂ"et t they are found to be at
comparison enable the management to contral actual COS E{han o Sudgeted cost, the
variance with the past data of costs. If actual cost IS mureasnng S variation and take
management can analyse the situation 10 find out the FEI e ting provides an effective
appropriate measures to control these costs. Thus. margina
tool in the hands of management to control costs.
p : ?
1.7. What are the advantages and limitations of marginal costing !
.: Advantages . . ¢
e 1.d vltnis gsimple to understand and easy 10 operate along with standard costing and
udgetary control. _ . . .
2. lljtisgbeslb;uited to the needs of management because it helps in many ways in taking
decisions. - -
3. S?nce fived costs are charged against contribution, there is no problem of under
recovery of over-recovery of overheads. | . _
4. It fa::i!it%es control over costs, particularly Jariable costs, by avoiding arbitrary
gpportionment or allocation of fixed cOSIS. o _
5. Mpaprgmal costing establishes the fact that profit is @ function of sale and not of
production because profit depends ON sale and not on production.
Limitations : | _ ,
1 It assumes that all costs can be classified into variable costs and fixed costs, which
may not be possible in some cases. | 1
2. Itignores time factor and investments, €.g. the mar_gmal of two jobs may be same but
the time taken in their completion and investments in machinery may differ.
3 |t assumes that fixed cost cannot be controlled, hOWeVver, there are some cases when
fixed cash can be controlled to some extent |
4. Marginal costing does nol provide any standard for evaluation of peﬁurmance. The
system of budgetary control and standard costing gives more effective control than
marginal costing.
Q.8 What are the uses of P/V Ratio?
Ans.: - P/ Ratio has the following uses: -
‘ 1. It helps in calculating the break-even point.
2. It helps in calculating profit when margin of safety is given.
3. With the help of PV ratio, profit at given level of sales can be calculated,
4. PNV ratio helps in calculating sales when a desired level of profit is given.
Q9 Define Management .ﬁccqunting and what are its objectives _
Ans.. Management Accounting is a system which helps management to plan, take better

decisions and control, _thereby enhancing, effectiveness of the organization.
Management Accounting is a system of collection and prsentation of relevant economic
information relating to an enterprise for planning, controlling and decision-making.”

Objectives of Management Accounting
1. Planning — Management accounting helps to fore
» - " o b Cast
activities of the business. ; and prepare plans for future
2. Coordination — Planning helps in coordinati ‘ i
ating various bus '
sales, purchase, production etc. ‘ inese: funcicna, such. 88

3. Control — For control of business o | |
perations, tech - .
budgetary contro! etc. are employed. chniques like standard costng,

4. Decision support — Management accounting provides relevant data"fnr taking

decisions on exports, bulk orders, sales mix, etc.




Q.5.

Q.6.

Q.7.

Q.8.

Q.9.

Q.10.

Q.11.

R | .
A cnmpany h ION | C;Q R. H;._M‘EHTA_.
S —— 2 ‘
(8]

atis its m lon of

Agin of ¥2,00,0
M ) Safel : ) DU and :
BEL gin of Safety is 3 d net profit of ¥ 1,50,000 on sales of
and profit on sales 1=EJ'.:}“;‘II] which ;
0 IS

% - [Ans.: T 6,00,000]
9,00 % of
.000. sales and P/V Ratio is 30%. Calculate

P/ Ratio is 50¢
% an ,
Find th 9 MS Ratig is 40%. ¢ [Ans.: ¥'3,60,000 and X 1,62,000]
ind the overall + “OMpute net .

Product break-even poing g o et profit if sales is T 1,00,000.
Sales V - _ verall p : [Ans.: T 20,000
Uar‘::bi:léjsslﬁx Ratio ”{Hahn for the following three prnduc.ts . ]
Total Fi © Sale Ratio 20% Y 4

IKEd CDStE ? 35 5DU ED.;;U 30% ﬁﬂu’lgu

| 30% 20%

A Ltd. manufactures angd sells 3 [Ans.: T 50,000]

the variable cot | single _
tis X 16 per unit Jie product X whose selling price is ¥ 40 per unit and

Fixed costs are ¥
4.80,000
calculate the rati | P-@. and the annua ‘
0 of net return on sales assuming Iiniﬂise tE;: (%t.q%?::h mar[g;‘n o :f [EE:E}J ]
. HE.: . 0

A Company has a P/V Rati i
allo of 28% Fixed Costs during the quarter || of the financial year

2009 - 10 will be ¥ 2,80,00

L] ¥ l Dl

orofit of Z 70,000. Calculate the sales revenue required to achieve a quarterly
[Ans. T 12,50,000]

The fixed cost for the producti '

being X 3 per unit andp'ts u?hunlut a particular item 1s X 200 per month. Its variable cost

e would be th Its sale price being Z 7 per unit, determine its break-even volume.
e the profit if 2._00{1 such units were sold in @ month 7 How many such units

should be sold to earn a profit of 3 3,000 per month ? [Ans. 50 units; X 7,800 & 800 units)

and earns a profit of T 4 fakhs. T its P/V ratio

A Company has a margin uf sl at 20%
[Ans. % 50,00,000 and X 16,00,000)

is 40%, calculate its current sales and fixed costs.

A Company has fixed cost of ¥ 90.000, Sales 2 3.00,000 and profit of 2 60,000

:?)Eq;;leez \:m ed a loss of T 30,000.

(i) What is the margin of s3

the company suffer
profit of 90,0007

argin of safety of 20%. If its annual

lume if in the nexl period,
fety for @

a PIV Ratio of 40%. It maintains @ M

A Company as e its -
ntto T 24 Iakhs, calculate | (Ans. 2 60,00,300]

fixed costs amou

(i) Break-even sales’ Einﬁ-;;';.gg,gﬁg%
i in of safety 3.\ SO

(i) Margi [Ans. ¥ 45,00,000]

(iii) Total sales (Ans.  60,00,000]

(iv) Total variab
v i 4 units of J and 3 units of K.

(v) Profit. 4
mix is
The sales K Fixed costs are 6,16,000

ts, J and K f
o produS gre 240 fof yand¥ 2070 (Ans. 19,600 units]

e costs; and

A Company sells W
The contribution M2 8
PI';I' month. compute the preak-€
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Q.12. From the following data. you are required to calculate the break-even point and net saleg
value at that point :

Direct materials cost per unit< 8
Direct labour cost per unitX 5
Fixed Overheads T 24,000
Selling price per unit T 25

Trade discount 4%

Variable overheads @ 60% on direct-labour.
If sales are 15% and 20% above the break-even volume, determine the net profits,

Q.13. Last year, a company earned 20% profit on a sales turnover _udfz :;J{:JSEE:-;EEDF%:
its profitability and competitieness, the management has decide s effecteﬂ :
by 10% and increase output and sales by 20%. Cuts are prupuseth steps hav :
variable and fixed costs at 5% and 20% respectively. What effect will these Step eon

it thi ' i t of T 25 lakhs per
' this vear ? The company was having 2@ fixed cos
g.‘nenlf;n}g:tng:as b [The profit will get increased by ¥ 5.3 lakhs)

- ' i 12% profit before

Q.14. A Company, having annual sales of ¥ 10 crores, is earning _
depreciation. Depreciation amount to Z 100 lakhs. If the P/V Ratio of th:gcumgany IS

40%., calculate its Break-even sales. [Ans. X 9,50,00,000]

Q.15. PQ Ltd. reports the following cost structure at two capacity levels :

2,000 Units 1,500 Units
Production Overhead | Z 3 per unit T 4 per un'ft
Production Overhead | T 2 per unit T 2 per unit

If the selling price, reduced by direct material and labour, is T 8 per unit, what would be its
break-even point 7 [Ans. 1,000 units]

Q.16. A manufacturing company, currently marketing 15,000 units of a product @ ¥ 120 per unit
indicates the following cost structure :

Variable Cost : Material - % 56 per unit
Labour - < 10 per unit
Expenses - T 6 per unit.

Next year's budget has been based on Material Price increase by 6%, labour cost
increase by 8% due to new wage settlement and variable expenses increase by 3%.
Fixed expenses are expected to go up by 5%. Current Fixed Cost =X 1,00,000.

You are required to present before the management for decision :
(a) a statement showing profit in the next year's budget;
(b) the new selling price, if the current profit volume ratio is to be maintained: and

(c) the quantity to be sold during next year to achieve the same quantum of profit without
price increase.

Q.17. Your Company, manufacturing1,00,000 units p.a., sells it at a price of ¥ 80 per unit. The

variable cost per unit is ¥ 48 and the annual fixed cost amount
. stox
these data, you are required to work out the following : 0% 18 lakhs. Based on

(i) Present P/V Ratio and break-even sales [
| ' 'S, Ans. 40% and Y 45,00,000
() Increase in the volume of sales required if the profit is sought t:: be i:crgi:':ad bylf

X 3.6 lakhs.
- : 000]
(ili) Percentage increase / decrease in sales quantit . [Ans. X 9,00,000
in variable cost. quantity to offset an increase of ?A?nﬂe; :“E




48. The varable cost Strucyy

Q

Q.20.

Q.21.

XYz
Materia)e Co. is a¢ follo ____CAR. K. MEHTA
Laboyr WS
g’""ﬁ?l‘heaﬂ J/Unit
SHing pri 40
Sales and fixeq overh Ce 5

Under a new wg
workers from thge aﬂfﬂement

Uring th
ec
Urreny year are Expected to

be ¥ 13,50,000 and T

, eginnine .0 Ncrea
verhead nin Se of |
0 and fixed ﬂverheag a{:; i Ming Flg? ‘w“h'f‘{'agﬂ s payable to all the direct
"{':;:u tﬁre required tp work out ©Xpecteq to incree;se b;e? gl: g'ln?teriglﬁ cost, variable
(i e new sellin g pri : -3, 9% and 3% respeclively.
. Price
(ii) the quantity to pe g r:;f the curreny p ralio is roaine

as in the current year 4 Uring the forthcoming yea o oo and [Ans. ¥ 97]

g year to yield the same amount of

: ‘ profit
© selling price per unit will remain same.
A Company earned 3 p [Ans. 17,113 units]

half of a year, the fixed

year, it incurred a loss of 00,000. However, during th
cost remained the same ¥ 1.00,000 aith . g the second half of the

Required :

(i) Profit-volume Ratio, Bregk- ;
year, k-even point and Margin of safety for the first half of the

(if) Sales vnlumg for the second half [Ans. 50%; ¥ 1n,un.nm: ::: ; :.:ﬂu.ggﬂu%
(iii) Breakeven point and Margin of safety for the whole year. [Ans. ¥20,00,000 a. !z'.uu'.uuol

The ratio of variable cost to sales is 60%. The break-even point occurs at 80% of sales.

Fixed costs are Y 2,00,000.
(a) Find the sales capacity.

(b) Also determine profit at 90% sales capacity.

[Ans. X 6,25,000]
[Ans. T 25,000]

A Company manufactures three products. The budget quantity, selling prices and unit

costs are as under

A B C
{ < K4
40 20
Raw Materials @ (T 20 per kg.) Bg 15 10
Direct Wages @ (T 5 per hour) 10 30 20
Variable Overheads | 5.400 3.200 2 400
Budgeted prnductiun in units 140 120 a0
Selling price epr unit in<
o - | 171,200 [Ans. ¥3,24,800]
Required : ofit if Total Fixed CostisT 1,71, 1,800
: t of budgeted ot « o supply of raw materials is
(i) Presenta statemen ©enix and determine the profit, if the supply (Ans. T 1,44,800}

(i) Set optimal produc
restricted 10

18.400 Kgs-
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Q.22.

Q.23.

Q.24,

Q.25.

productg X and Y using the same rgy,

A Company manufactures and sells two standard _
I la rticulars are given below

material, labour and identical machines. Further pa

X Y )
. : , Z 80 100
Selling price / unit
gp - Per Unit _h'"'"
. 320 330
Direct Material @ Y 20 / kg. 715 Z 15
Direct Labour @< 15/ hr. _
T 15 T 15
Variable Overheads .
. . Y hr. Ya Nr.
Machine hours required _
Per annum
15,000 |
Maximum Demand (Units) 12323 12 000
Current Production (Units) ' : -

Labour and mateials are available according 1O requirements. But, fE-;FEhII:'rIl'E t;agacity
cannot be increased immediately and the available capacily has been ully ulilized Dy the
current production plan. Total Fixed Cost is T 3,96.000.

Required : "
(i) Current contribution analysis,

(i) Profit currently earned by the company. | | [Ans. T 5,34,000]
(iii) Alternative production plan, if any, more profitable to the company,

(iv) Profit expected to be earned under the sugtgested plan.

Novelty Ltd. produces a varity of products each having a numl_::er of component parts.
Product P takes 5 hours to produce on Machine No. 20 working to full capacity. The

selling price and marginal cost of Product P are ¥ 100 and X 60 respectjvely. A
component part B-15 could be made in the same amchine in 2 hours for a marginal cost
of Z 10 per unit. The supplier's price is T 25 per unit.

You are required to advise whether the company should make or buy the component B-
15. (Assume that machine-hours is the limiting factor).

[Ans. T 5,44,000]

Bindu Ltd. pesents the following information for a year :

L4
Material 1,20,000
Wages 2,40,000
Fixed expenses 1,20.000
Variable overheads 60,000
Selling price per unit 50
Output 12,000 wunits

The available capacity is 20,000 units of production in a year. The company has an offer
to sell 5,000 additional units at X 40 each in a foreign market. It is anticipated, that, by
accepting this offer there will be a sving of T 1 per unit in material cost on all the units
manufactured but fixed expenses will increase by ¥ 30,000 and an overall efficiency will
drop by 2% on all production. Whether this offer be accepted and why 7

[Ans. The offer will increase profit by < 5,200]

Fixed expenses 31,500
Fixed expenses when the factory is shutdown % 1IUDU
Additional expense in closing down 4 *100
Production 500 units
Contribution per unit < 1 )

As a Cost Accountant, what are your comments on the above data ?

[Ans. The factory should run}




—

.26

2T

Q.28.

Q.29.

A factory engagemh
u ——

10,000 buckets a
' Per an Clurin | —
Material UM The gsﬂlasnt Bckets 1 o ~ CAR.K MEHTA |
Labour =Nt cosy ana: 'S Working at 40% ca
Overheads 2 10 UP for one bucket is aspi::; ?”ﬂ produces
T 13 ®
The selling price is ¥ g T 5
In case it is decided to Perbucket  (00% fixed)
90% capacity the sel|; Work the facio
material. NG price falig hw Eﬁl 50% capacity. t . -
Calculate the - Y 5% accompaniee he selling price falls by 3%. Al |
e profit at 50y Panied by a similar fall | i

same capacities, o and gQy, it in the price of

i . 50° . e break-even f
capacity and 6,667 U:‘Ii:}gi Capacity) 71,250 (90" points for the
[+]

t 90¢ i
e ioiat 90% capacity) capacity) BEP 6,818 units at 50%
ndia Lid. is produci
is given below: Producing three products X, Y and
'Y and Z. The data for the three products
Maximum capacit
Direct material @yz 10 per k 5,000 unif;. 2 N s
Other variable costs 9 240 o0 ;Jn;tg 300 ;mgg
Sglhng price 1 36 z 25 T 10
Fixed cost (unavoidable) X 100 2 50 X 60
¢ 20,000 2 15,000 ¥ 10,000

Calculate the best product-mix |
FEW ct-mix in each of the followi |
1. Total availability of raw materials is limited tnnréngutgr:ge Mapoureniaes

z. Under a trade agremeln th m hree
e firmc n
: e l sl annol produce more tha 7 500 umis of the thre
3. Total sales value of the three producls cannot exceed I 6,50,000

([.ive complete workings showing contribution and total profit.
ns.
1. 1,750 unils of X, 2,000 units of Y and 2,000 units of Z producing {otal profit of T 87.000.

2. 5,000 units of X and 2,500 units of Z producing lotal profit of T 1,25.000.
5 3,700 units of X 2,000 units of ¥ and 3,000 units of £ producing total profit of R 1,33.800.]

Flex Ltd. has been offered a choice 10 buy Machine A or Machine B. The relevant data

, W
are given belo Machine A Machine B
. , 10,000 10,000
Annual output (in units) ¥ 30,000 7 16,000
Fixed cost 7 30.000 Z 24,000

: vel n :
Profit at the above e , cted 0 be 2 10 per unit.

Market price Of t -
You are required 1© compy™ -hines. [Ans. 5,000 units and 4,000 units)
: h of the two ma _

1. Break-evl apeed 1E!r'naﬁmt'n the machines earn equal proft. [Ans. T.Uqfun‘argtsl it

2. Level of sales gt whio ne B is more profitable- [Ans. 4,000 to 7,000 un --.i]i

3. Range of sales @ n Machine A is more prnﬂtable.[MmE than 7,000 units)
f sale |

Sl level® with PV ratio of 40% for the product during the

produce’ < pelieved thal the price will have 10 be

' Inglé tion it 1S : .
Workwell Ltd. 158 == sin competiion | ales quantity should increase SO
i increasi™d 5 ynat perceT e : 33.33%]

current year. Due . year. BY g {Ans.
that Workwell L&
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Q.30. Attempt the following (working notes should form part of the answer ). | |
1. Total fixed cost ¥ 12,000: Contribution ¥ 20,000, No. of units sold 10,000; Variap|a

cost is 60% of sales. Determine selling price per unit and also the total profi loss,
[Ans. T 5 and % 8,000)
2. Total fixed cost T 12,000, Actual s

the P/V ratio. [Ans. 30%] g .
3. When output is 3,000 units, the average cost per unit ';s'l'?he :r;{qllzgeﬁmg:ﬁt -
increased to 4,000 units, the average cost is I 3.50 per unit. poInt is

5 000 units. Find the P/V ratio. [Ans. 37.5%]

}M./éman Exports Ltd. is producing and selling 20,000 units .Df its product in the home market
at a price of ¥ 60 per unit. The per unit cost IS as follows:

ales 2 48,000, Margin of safety T 8,000. Determine

Direct Material T 10 per un!t
Direct labour T 7 per unit
racton E;F:dnses' Z 12 per unit
Variable T 4 per unit
Office and Selling Expenses: |
Fixed Z 6 per unit
Variable ? 3 per unit

An importer from Australia placed an order for 6,000 units at a price of T 30 per unit.
Execution of Australian order will result in an additional total cost of ¥ 10,000 over and

above the variable cost. Should the Australian order be acciepted?
[Ans. The offer should be accepted as it produces profit of ¥ 26,000]

Q.32. Given below are the sales and proits of the two halves of the year:

1* half 2" half
Sales Z 1,00,000 ¥ 1.20.000
Profit ¥ 30,000 T 38.000

Fixed cost during the first half is equal to that during the second half. Selling price and
per unit Variable Cost remain unchanged.

Calculate the following:

1. P/V ratio [Ans. 40%)]

2. Fixed cost for each half and for the year. [Ans. T 10,000]

3. BEP for each half and for the year. [Ans. I 25,000 and ¥ 50,000]

4. Half-yearly sale to earn half-yearly profjt of ¥ 40,000. [Ans. T 1 ,25,000]

5. Annual sale to earn annal profit of ¥ 90,000. [Ans ¥ 2,75,000]

Q.33. A retail dealer in garments is currently selling 24,000 shirts annually. He supplies the
following details for the year ended 31* December, 2006:

Selling price per shirt 40

Variable cost per shirl 25

Fixed cosl:

Staff salaries for the year 1,2

General office costs for the year nggg

Advertising costs for the year 40'0[1[]
As a cost accountant of the firm you are required t ' '
independenty q O answer the following each part
1. Calculate the break-even point and mar in |
[Ans. %6,40,000 and 2 3.20,000] gin of safety in sales revenue.
2. Assume that 20,000 shirts were sold in a ear. Fi

{Ane. € 60,000] year. Find out the net profit of the ﬁrm.

3. Ifit i_s decided to introduce selling commission of
require to be sold in a year to earn a net income o

4. Assuming that for the year 2007 an additional staff salary of ¥ 33,000 and increase in

selling price by 15% is anticipated, what should e
shirts and sales revenue? [Ans. 13,000 shirts ar?g ;hi g:al;;g;m polntn mynher &

3 per shirt, how many shirts would
fX15,000. [Ans. 21,250 shirts]




Q.

Q.36.

Qi 37.

Q.38.

Q.39,

ZACCOUNTING
"' M —_— o ) e i—m—=
' From the followin 11.21
34. g data ¢
HICHIE[E
CA R. K. MEHTA

pirect material per unit

pirect labour per up,; the byre
Filﬂd overhead {Tmt ak"ﬁ\f&n POint- ——

. otal) T3 int

UEI‘I‘EIhIB overhead 25

selling price per uni 2 10

Trade discount muy;nm

on g
P.'ISOEEETI’I'EH’EHP“ s § Tﬁ-] rec! laboyr
S3es e %

Matenals

Labour

variable overheads 2

Variable cost i 100

Fixed overheads o

Total cost . 1—?,%
Due to competition, the price hag to b 200

ere 373

that there will be no
Change | ;
same amount of total Pfﬂf?t a;ﬂI::ts.E fin
ar,

The following data is given:

du
Ced to X 425 for the coming year. Assuming

d out how m +
any units shall b
[Ans. 13,000 units] e sold to ensure the

Selling price

Variable manufacturing costs 20 g

Variable selling costs 1" Ei: t[irr:ﬁ

Fixed factory overheads 3 per unit
5,40,000 per year

Fixed selling cosls
‘\fﬂu are required to compute:
E:E} E‘T:E;”i? ?1?111?; ﬁl;;e?nﬁfd in amount of sales in rupees; [Ans. X 26,40,000]
1,42,000 units] st be sold to earn a profit of ¥ 60,000 per year. [Ans.
(ii) How many units must be sold to earn a net income of 10% of sales? [Ans. 1,98,000

2,562,000 per year

units]
Sultan Plastic Company makes plastic buckets. An analysis of their accounting reveals:
Variable cost per bucket Z 20
Fixed cost Z 50.000 for the year
Selling price per bucket X 70
Required. _
s. 1,000 units}

(i) Findthe break-even point. [An |
(i) Find the number of buckets to be sold to get a orofit of  30,000. [Ans. 1,600 unis]
(iii) If the company can manufacture 600 buckets more

cost of T 2.000, what should be the selling price tom

(ii) above. [Ans. 62.39] e |
: ' 'ods 7,000 units ana ¥, units and has incurred a
Z 10 ﬂUDﬂat:; ::rcnc: % 100 fit respectively. The selling price per unit
loss of .

dZ 10,000 as pro
can be assumed atZ 100.
R 80,000]

You are required 1o calculate:
ven R 8,00,000]

ived cost
(a) The amount of fixe _
{b; The amount of sales 10 bﬁikaepruﬁt of 40,000. R 12,00,000]
fsales’o” 4.00,000. In 2004 sales amounted 10

(c) The amount 0
profit in 2004 was ¥ 4,20,000

per year with an additional fixed
aintain the profit per bucket as at

osls of
nnual Tet??cﬁﬂﬂ‘ﬂﬂo in 2003 and

. : €
higher than in 2003. les d0ES thecnmgﬂ“:mcast sales volume of ¥ 80,00,000.
on
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(i)

reduction in selling price in

If there is a 5004, what

earn the same profit as in
[Ans. ¥ 84,00,000]

es a single produ Lnits can be sold at X 1.50 4
QA'B. A C?mpﬁﬂ; TZEEE?E;‘UJE market is such that up 10 43 gnue'ait. There is a planned profit of
il E:I?t stﬂeany a;:lditlc'rnal sales must be made at ?Jéﬂ[ﬁ.ns. 48,000 units)
255,000, How many units must be made and solc: ~ors can be manufactured and solg
iti t, 10,000 pocket et ket transistors need p
- 3 purelz:r? mfc?ftilthrse gn;i:{;ted It 15 estimated thalthi.ggﬁ_lszfum ®
1 ' . .
an af'ﬁured gnd sold in a monopoly market to earn? 5 00,000. The variable cost per
r;r?:r\:ilil E:J{I:'IdEI' both the conditions is targeted ?EéDD b
transistors is ¥ 100 and the total fixed cost IS 1,3 ‘ huih under monopoly and competitive
You are required to find out the unit selling prices
conditions. [Ans. T 218.50 and ¥ 123.70] e period I roduces and sells 000
i 7 15 per unit. In @ pEHY™
Q42. A ﬁ“mf?:guf:'f l:jtzspr;d?u%t :;r unit,pif the volume is raised 10 20.000, it earns a profit
units, il
of T 4 per unit.
oy D Nomgn-#088 . e o ' but actually produces on|
Q.43. Into-British Company has a capacity to produce 5.lEJDD articles but a y
2 000 articles for home markel at the following COSIS. .
40,000
Materials EIE,DDU
Wages Fixed 12,000
Factory Overheads ) Variable %gggg
Administration u}rerhead - E_:Eg 10:0[10
S:{I:Eg Ea;: distribution - Ustable 16.000
e Total Cost 1,52.000 |
The home market can consume only 2,000 art:'cles‘at a sglhng price of X 50 per article.
An additional order for the supply of 3,000 articles is recewe;:l from a foreign coun}ry at
¥ 65 article. Should this order be accepted or not, if execution of this order entails an
additional packing cost of ¥ 3,000. [Ans. Profit of T 24,000]
Q.44 A radio manufacturing co. finds that while it costs X 6.25 1o make component R-518, the

same is available in the market at ¥ 5.75 each, with an assurance of continued supply.

The break-down of the cost is:

Malerials

Labour

Olher variables

Depreciation and other fixed cosls

(a) Should you make or buy? [Ans. Make]

(b) What would be your decision, if the supplier offered the component at T 4.85 each?

[Ans. Buy]

Q.45 A company manufaciures three products. The budged quantity, selling prices and unit

coslis are as under:

Raw materials (@ ¥ 20 per kg.)
Direcl wages (@ I 5 per hour)
Vanable overheads

Fixed overheads

Budgeted production (in units)
Selling price per unit (in 3)

2005 by 10%

ct having @ marginal

________———— CARK
———— GAR KWy

and the company desires {q

would be the required sales volume

cost of T 0.75 @ unit. Fixeq

L4
2.75 each
1.75 each
0.50 each
1.25 each
6.25

A B C

% 3 4

80 40 20

S 15 10

10 30 20

9 22 18
6,400 3,200 2.400
140 120- 90
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(D) Set optimal pProduct.
restricted to 18 4;§tk;1lx and determin [Ans. Profit 2 3,24,800]

[Ans, pPror: Ne prafit jf |
An umbrella manufacty e, mak rofit ¢ 4 44,.800) It the supply of raw matenials is
e

¥ 14.30 by producing an
His cost of sales per yp;

S an ave .
selling 60 gpg o Profit of 2 2,50 per unit an a selling price of

Direct materials LIS as follows 'S 3t B0 per cent of potential capacity.
Direct wages

Faclory overhead X 3.50

Sales overhead X 125

3 8.25 (50% fixed)
During the current year, he int ¥ 0.80 (25% variable)
ends to produce the sdme number bul estimates that his

fixed cost would go up b
- Y 10 per cent whi -
will increase by 8% and 6%, respecti o raﬁﬁ: fsgllﬁ; ;?cfz;”i? gzghn;r?éeerfs

er 20% of his polential capacity.

yOu recommend for acceptanc
profit of ¥ 1,67.3007 [Ans. X f‘t.zn]e of the offer to ensure [ne

__qgé Product X takes 20 hours to process on machine 99. It has a selling price of ¥ 100 and

margr:_rlI]m gﬂgtif-it :fh? 60. Y (a cnmpunerlt part used in proc :tion) could be made on
machine 99 in 3 hours for a marginal cost of 2 5. The supplier's price is T 10. Should one

make or buy Y? dis'cqss In both situations (i) when machine 99 is working al full capacity
and (ii) when there is idle capacity. [Ans. (i) Buy; (ii) Make]

_manufacturer and overall

0.48. A multi-product company provides the following costs and output data for the lasl year.

Products
X Y Z
Sales mix 40% 35% 25%
< 4 <
Selling price | 20 '.Eg iig
Variable cost per unit 10 o 450,000
Total fixed cost 2 500,000
T;gtiinsni:easny oroposes 1o replace Product Z by Product S. Estimated cost and output
data are: X Y S
. 50% 30% 20%
Sales mix 7 ? 4
20 25 £
Selling price _ 10 15 14 % 80,600
ek
otal fixe
‘e mpany should take.
Total sales and suggest what decision the company

nge |
proposed Ghang raw malterial using same

hr&e'd:ﬂfemg::lﬁ:ﬂis gvailable In plenty ELz |: Iiﬂﬂlei{egut:rf[?.rrﬁgg
ities. 1hE reqmigﬁai?which IS | Etzzs Ezﬂ gﬁer hour. The fixed
products. The EUPPW of FE;‘ n:II'Er:l!e ve;nable_ﬂ'*fe is 10% on sales. .
kg. for the budget peﬂ?rh-e selling commissio” £ 1 suggest the most suitable sales
overheads are zlfo.pn{llgﬂ'infnrmaﬁnn, you 3;1 p]‘ﬂﬂt- Also. determing the pl’Dﬁt that will be
(a) From the follown9 © e compan

Analyses the

: terial required
mix. which will max e Labourhours Raw ;"; o ff:}
earned at that IEA‘E';*E ¢ Seﬂmgnﬂt 7 per 1“"" 0.7
per .
Product a‘emﬂﬂd ynits 30 2 04
8.000 40 1.5 .

X 6.000 50
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Q.50.

Q.51.

Q.52.

Q.53.

aterial is made availap

(b) Assume, in above situation, i additions’ ?f?r;}r ﬁﬂﬁﬁga;ﬂn;uctinn. if it will result 1.3
i the company go , in the rates per hour

Edﬂg::ﬂ::;ﬁ iﬁi#iads of T pZU.DDD and 25% increase In for

labour and variable overheads.

sells its products at T 60 Per unit. In 1996, the company

A single product company osts amounted to T 3.60,000 and the
operated at a margin of safety of ;ﬂ"fn. The fixed C

variable cost ratio to sales was 80 1 0o up by 10% and the fixed costs wijl
In 1997, it is estimated that the variable cost will 9

increase by 5%. ve fixed in 1997 to earn the same P/V ralio as in 1996.

i ' ' ired to be Tixe _
T req:llre ice of T 60 per unit in 1997, find the number of units
Assuming the same selling pri fit as in 1996.
required to be produced and sold to earn the same profi
[Ans.: T 66 and 85,833 units]

- i ' veals :
Indian Plastics made plastic buckets. An analysis of 1he:r:§::]nunllng e
V:ariable cost per bucket 2 50,000 for the year
E'“E:;;st 2 000 buckets per year
a
Selling price per bucket 370
Required :
i Find the break-even point. [Ans.: 1,000 buckets] _
:i. Find the number of buckets to be sold to get a profit of % 30,000. [Ans.: 1,600
buckets] , o to bucket
iii. If the company can manufacture 600 buckets more per year in addition to uckets as
in (i) above with an additional fixed cost of ¥ 2,000, what should be the selling price
to maintain the profit per bucket as at (ii} above ? [Ans. T 62.39 per bucket]
A retail dealer in garments is currently selling 24,000 shirts annually. He supplies the
following details for the year ended 31 December, 2001.
L4
Selling price per shirt 40
Variable cost per shirt 25
Fixed Cost : Staff salaries for the year 1,20,000
General office costs for the year 60,000
Advertising costs for the year 40,000
. Calculate the break-even point and margin of safety in sales revenue and number of
shirts sold. [Ans.: X 6,40,000 and ¥ 3,20,000]
i ?Ass:ms égaéui:]{]).ﬂﬂﬂ shirts were sold in a year. Find out the net profit of the firm.
iii. If it i; decided to introduce selling commission of Z 3 per shirt, how many shirts would
require to be sold in a year to earn a net income of Z 15 i
0F<'15,000. [Ans.:21,250 units]
Quality Product Limited has drawn up the following budget for the year 1998 — 99 :
Raw Materials - R
Labour, stores, power and other variable costs 8,000
Fixed Manufacturing Overheads 6,00,000
Packing and variable distribution cost :ggggg
Fixed general overheads including sellin oY,
9 seling 3.00.000
Sales Revenue @ ¥ 50 per unit 40,00,000
Budgeled Profit 90,00.000

< 10,00,000

g prices by 5% and e '
0 : : Xpects lo achieve an
%. The more intensive manufacturing programme will involve

The General Manager sug ‘
( gests to reduce
additional volume of 5 e

—— °~ 79 programme will involve




additional costs of 2 5 ot 11.25
office ap .. (OF CA R. K. MEHTA

Q.55.

Required: i
(a) Calculate the annual br

(b) The sales comm

(c) Itis proposed

additional salesg

UClig i

Co N pl

The S::tais Manager. t Stof? 1'”“-0?33“;?%'““ will also

ﬁ‘ﬂliufECtm?’:;d will r dUEEulsh;r hﬁnﬂl EUQQEEI .
) 'd Overhe es y S 1o inc : , ,

respectively is expecteqy 'ir? ?d BEner;lu 100, A selling price by 10% which

_ hi OvVerheg - At the same time a saving in
Which of these two *® feduceq vnlum: > O 50,000 and % 1,00.000 per anaum

[Ans.: Profit as peﬂrupnsals Woulg ‘

J Proposg you dCce
Sales Manager 2 14.::-n,m::l:11aII °t Genoral MfﬁiSE.-";“i ;zsgﬂ
L ] u

M’s. Natraj Stationer
. S m
and sales is as folloys - " 2ClUres plagti files f
Variable coet per fi. Or office use. The break-up of its cost

Fixed Cost L %40
Selling Price - 360,000 per year

be necessary to open an

W complete working.
0 and as per proposal of

(i) Break-even point:
(i) Number of files to be sg|q
(iii) If the firm manufactures a
of ¥ 2,000, what should b . ;
as in (ii) above ? X 91] € the selling price to earn the same amount of profit per file

The Laila Shoe Company sells five
purchase cost and selling
opening another sfore, whic

: different styles of Ladies chappals with identical
Prices. The company s trying to find out the profitability of
h will have the following expenses and revenues -

Per Pair

<
Selling Price 30.00

Variable Cost 19.50
Salesmen's Commission 1.50
Total Variable cost 21.00

ual fixed expenses are . L4
22?11 i 60,000

Salaries Zggggg
Advertising '

: 20,000
Other Fixed Expenses 1.60.000

k-gven point in units and in value. Also determine the profit
ea

Id.
| -« of chappals are so ‘e 7 12,00,000 and 45,000 loss]
or loss if 35,000 pairs [Ans.: 40,000 units, ¥ stead a fixed amount

iscontinued, but in t
ed to be dlsmn;:mti“" in selling price of 5% is also

[Ans.50,000 units}
pair as further commission. The

at would be the break-eve.:n
e [Ans. 36,000 units]

issions are propos

; ies. Are
of Z 90,000 is to be incurred I fixed salares

int in units?
proposed What will D€ the break-even poi

er 50 paise P=f
1o pay the store M98 2 by 5%.

osed to be increa

selling price IS also prop
point in units 7
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Q.56.

Q.57.

Q.58.

The following data relate 1o a manufacturing company -

Plant capacity : 4,00,000 units per annum
Present utilization - 40%

=

Actuals for the year were . -

nit
| Selling Price 3 50 per_E_n_“___,
Materials Cost X 20 per ey
Variable Manufacturing Cost T 15 per
T 27 lakhs

Fixed Costs

proposals are considered

In order

(iv) Spend additionally ¥ 3 lakh
How many units should be macde and SO

proposals.

The variable cost siruc

lo improve capacity utilization the following

: ice by 10% .
(ili) Reduce Selling Eries B¥ s on Sales P:;omotion

dtoearnap
[.A-"E. “} a,zulu

ture of a product manufactured by a com

rofit of T 5 lakhs per year in both the
00 units; (ii) 2,33,333 units)

pany during the current

year is as under
Z Per unit
Material 120
Labour 30
Overheads 12 |
fixed cost and sales during the current year are

The selling price per unit is X 270 and the
7 14 lakhs and Z 40.5 lakhs respectively.

ers will be entitled to a wage increase of 10%

uring the forthcoming year the direct work |
o X d the material cost, variable overhead and fixed

from the beginning of the year an
overhead are expected to increase by 7.5

The following are required to be computed

%. 5% and 3% respectively.

(d) New sale price in the forthcoming year if the current P/V ratio is to be maintained.

(e) Number of units that would require to be sold during the forthcoming year so as to
yield the same amount of profit in the current year, assuming that selling price per

unit will not be increased.

Quality Products Ltd. manufactures and markets a single product. The following data are

available
T Per unit
Materials 16
Conversion cosls (variable) 12
Dealer's margin (10% of selling price) 4
Seliing Price 40

Fixed Cost . T 5 lakhs
Present sales 90,000 units
Capacity utilization : 60 per cent

There is acute competition. Extra efforts are necessary to sell. Suggestions have been

made for increasing sales :
(@) By reducing selling price by 5 per cent.

g:] By increasing dealer’s margin by 25 per cent over the existing rate
ompute units to be sold in both the suggestions if .e company desires to maintain the

present profit ? Give reasons.

[Ans.: (a) 1,16,129 units; (b) 1,02,857 units]
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A company produces sin le
a.59- unit and Fixed overheaq ?nr tp

Required :
(a) Calculate sales quantity neeq
(b) Calculate sales price per ynit
(c) Calculate margin of safety sa

Juct lIs for * 20 per unit. Variable cost is T 15 pef
he yearig ¥ 6,30

CA R. K. MEHTA
which gg

.000.

ed to earn profit of 10% on sales. {Ans.: 2,10,000 ::I;]]
to bring BEP down to 1,20,000 units. [Ans. ¥ 20.

les if profit is ¥ 60,000, [Ans.: T 2,40 000]
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SOLUTIONS TO REVISIONARY

LA L £2,00,000 _ 100-25%

Cantribution 100
Sales

P/V Ratio=

— . 'z_ B,Dﬂ'ﬂﬂﬂ
profit  1,50,000 _#¢ 00,000

Margin of Safety = P/V Ratio =

25%

Fixed Cost ¥ 1,08,000 _#3 60,000

Ans. to Q.2. Break-evensales = P/VRatio  30%
Proft = Salesx P/V Ralio- Fixed Cosl

_ 900000 x =22 -1,08,000=%1,62,000
VEE 100
Computation of Fixed Cost : _
i of Safety Profit

A. Margin of Safety = 57 Ratio |
Profit = Margin of Safety x P/V Ratio

2 40,000 x =2 =% 72,000

- 100
in of Safe
B. MS Ratio = Marginof Safety , 444
Sales
40 _ %2,40,000
100 Sales
Sales = ¥6,00,000

C. Profit = Sales x P/V Ratio - Fixed Cost

X 72,000 =¥6,00,000 x 30/100 - Fixed Cost

Fixed Cost =% 1,08,000

PROBLEMS

Ang. to Q.3. Margin of Safety = Sales x M.S. Ratio
= ¥1,00,000 x 40% =T 40,000.
Profit = Margin of safety x P/V Ratio = ¥ 40 000 x 50%
= 20,000.

Ans.t0 Q4. Overall BEP = OVerallFixed Cost _ 35,000
Overall P/V Ratio 71%

Computation of Overall P/V Ratio Assuming that total sales value is T 100, overall P/V Ratio is

=350,000

compuled below :
X
Sales Y Z Total
_ 220 T30 X 50 z
(-) Variable Cost T 10 Z g - 100
ibuti — = 1

Contribution 10 R 21 a-g T 29

Overall PV Ratioc =  Overall Contribution = Al
OverallSales 100

X71
7100 x100=71%

=
=




m R
11.
N’.,_Q_Qi B.E.P. (7) N

€de Cog CA R K. MEHTA
Margin of hﬁﬁqﬁgﬁfi=zjﬁgﬁmg
Safety = Actual 5g)gq B 60% — = ¥8,00,000
Ao DEP,
Actualg '
% = At Sates T 0
00,0
gctua_l 39-155 =220,00 Actual Sajas 00
,_: 2:1."";"“” (80% of t'zg%[,
- |KEﬂ CDST.S. ! .UUG]
Profit (before tax) 2 12.00,000
Less : Tax 40% 4.80.000
Profit After Tax T 7,20,000
2,88.000
Net Return on Sajes - Profit After Tax %4 3800 4,32,000
Ans. to Q. No.8. Sales 100 = 35000 ¥100=21.6%
Quarterla:tSaIes _fur desired Quarterly profit of ¥ 70 g
_ Quarterly Fixed Cost + Quarterly Desired Ii;ruf?t
P/V Ratio
. ¥2,80,000 +%70,000
28%
= ¥12,50,000
Ans. to Q.No.7.
BEP (in units) = Fixed Cost

SP/Unit — VC/Unit

200 =50 units
TT-T3

If 2,000 units are sold, -
Profit = (Total Units) (Contribution/Unit) - Fixed Cost.
= (2,000 units) (X 4/Unit) -3 200

= 7,800

Fixed Cost + Desired Profit
Units to be sold for profit of 3,000 =

Contribution / Unit

7200+% 3,000
Z 4/Unit
-~ 800 units.

Ans. to Q. No. 8.
Margin of Safety = ﬁg‘ﬁfﬂa
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BEP _ Fixed Cm_vat
P/V Ratio
Fixed Cost = BEP x P/V Ratio
= T 40.00,000 x 0.40
= T 16,00,000
Ans. to Q. No. 9.

(i) Sales for loss of ¥ 30,000
Fixed Cost + Desired Profit

P/V Ratio
90,000 + (- 30,000)
- 50%
= 1,20,000
PN Ratio = L= "M 100
Sales
_ 790,000+ 60,000 <100
¥ 3,00,000
= 50%
(i) Marginof Safety = ;r:':im
_%90,000
- 50%
= < 1,80,000
Ans. to Q. No.10.
Fixed Cost
() Break-even Sales = P/V Ratio
_ <24,00,C20
) 40%
| = ¥60,00,000
(i) Margin of Safety = Sales — BEP
= 75,00,000-%60,00,000
=z < 15,00,000
(i) M.S. Ratio - 2ales-BEP 0o
Sales
20 _ Sales -60,00,000
100 Sales
Hence, Sales = < 75,00,000

(iv) Since P/V Ratio is 40%, Variable Cost must have b .
80% of 75,00,000 = ¥ 45.00,000 een 60% of Sales i.e.

(v) Profit = Sales x P/V Ratio - Fixed Cost

40
= [75,00,000 x — |-

< 60,00,900
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E@’i?nccnunrma
ans. to Q- No. 11, \

compostte BEP (in units CA R. K. MEHTA
Cnmpﬂﬁitg Fix

ed
Composite Contrip: Cost
n "

¥31.42857 Per unit
= 19,600 units,
composte Contribution per Ui

_  (4units of ))(z 40%unit) ,

3 units of k)
; R20p.u.
= ¥31.42857 7 units P.u.)

. No. 12.

\
A
=
-
a9
-
o
Q
-y
e,
=)
c
=
T

Computation of

. Co tr )
SP/Unit X 25 less 4% Trade Digcoynt) 7 o Ntribution / Unit
(-) Variable Cost/Unit

Materials 8
Labour 5
V. Overheads 3
(60% of Labour) 216
Contribution / Unit 2 8
Fixed Cost
P =
BE Contribution/Unit
' T 24,000
< B/Unit
= 3,000 Units
BEP = 3,000 units x T 24/unit
(in value)
= ¥ 72,000 | |
If sales are 15% above BEP, the amount of profit is mmﬂﬂiﬂﬂfﬂ'ﬂ‘"’é g
Sales (3,000 units plus 15% i.e. 3.450 units) 2 24) = ey
(-) Variable Cost (3,450 units XX 16/unit 5 27,600
Contribution - 2; nggn
{-—-) Fixed Cost Pl'ﬂﬁt = | | UM
¢ profit is computed below
o, above BEP. the amount © F'[z 24) = 86400
If sales are 20% 0% i.e. 3,600 units) _ 257800
Sales (3.000 units plus 207 & ; 28 800
ales (3, nits x X 16) - ,
(-) Variable Cost (3,600 U _ 24,000
Contribution - 2.800
(-) Fixed Cost Profit
nt Situation 7 400 lakhs
.to Q. No. 13. Prase 2 20 lak
~ 7 B0 lakhs
Sales ¥ 25 lakhs
H Pk O - ¢ 55 lakhs
Total Cos Z 45 |akhs
(-) Fixed Cost
Variable Cost

Contribution
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(Sales — Variable cost)
PV Ratio - Contribution <100
Sales
_ % 45,00,000 <100
¥1,00,000
= 45%

Proposed Situation

Sales [! 100 lakhs x

(=) Variable Cost

120 90 ) - Z 108 lakhs
100 100

120 95 - 262.71
(T 55lakhs x 100 P IUD)
Contribution = T 45.3 lakhs
(=) Fixed Cost
80 = Z_ 20 lakhs
[T 25 lakhs x 100]
Profit = Y 25.3 lakhs
Hence, as compared to present situation, the profit in the proposed situation gets increased by
T 5.3 lakhs
. to Q. No. 14
A“.Sales =  10,00,00,000
(-) Variable Cost (60% of Sales = _6,00,00,000
Contribution = T 4,00,00,000
(-) Cash fixed Cost (Bal. Figure) = 2,80,00,000
Profit before Dep. (12% of Sales) = 1,20,00,000
(-) Depreciation = 1,.00,00,000
Profit = 20,00,000
: _ Fixed Cost
BEP (in value) = PIV Ratio
- 2,80,00,000 +1,00,00,000 =%9.50 00.000
40%
Ans. to Q. No. 15.
: Fixed Cost
BEP (in units = st _
( ) Contribution/unit
_ X 6,000
T 6/unit
= 1,000 units

In the given question, Production Overheads | is fixed cost (2,000 units x T 3/unit)

1,900 units x X 4/unit = < 6,000)

And Production Overheads Il is variable cost because it is T 2/unit at all levels.
Contribution/unit is computed below :

Contribution/unit

1|
Al
o

(before Production Overheads II)

(=) Production Overheads Il per unit

Contribution/unit

o
o IS
"
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Variable Cost/upjy Sent apgy Prop CAR. K. MEHTA
Material N °%€d Contripy
Labour Ution per ypjy
Expenses Present Proposed
98
_ , 96 plus 6% =
Selling F'I_'IL‘EJ"Unit 12 10 l;Ius E'&i = ?E:g
0unmbqtlnnfunit 73 6 plus 3% = _6.18
P/V Ratio 120 76.34
) T 12
a) Statement showing ¢ 48 120.90
{ Sarticulare 9 Current yeq, and 40% _43,66
Units sold "Xt year profy SRR
nits so
o C
Contribution/Unit u; ?;; Year Next Year
Total contribution f 43 15,000
Profit 21,00,000 ¥ 6.54,900
o | | X 1,05,000
(b) Existing PIV' Ratio is 40% whih i 1 | ez = HA%000
. € Maintaineg-
Now P/V Ratio = SP/Unit - vaunEd
SP/Unit *100
40 = SDP/Unit -43.66

| SP/Unit 100
Solving, we get SP/Unit = ¥127.23

(c) Last year Profit = ¥6,20.000

Quantity to be sold next year in order to achieve last year profit is computed below :
Fixed Cost + Desired Profit

Contribution/Unit
¥1,05,000+%6,20,000

T43.66
16,606 Units (Approx.)

Ans. to Q. No.17.
.S_i x 100

() P/V Ratio S
80-43, 100 = 40%

—
Fixed Cost
P/V Ratio
218,00,000 7 45,00,000

-~ 40%

BEP (Value)

W‘lﬁi
= PV Ratio

(i) Desired increase in Sales

= —40%
) hanged)
i) Sprunit = T80T s
Vewnit = X9° 452725
Cuunt = X8

Future Desired Proft . g) proft
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= Present contribution — fixed Cost
= (1,00,000 units) (X 32/Unit) - ¥ 18,00,000
= ¥ 14,00,000

Units to be sold in the future to maintain the present profit is com
Fixed Cost + Desired Profit
Contribution/unit
?18,00,000 +Rs.14,00,000
T 25 perunit

= 1,28,000 units e i ined i
g : units will be obtained in the
Hence, the profit which is presently obtained by selling 1,00,000 s 1o be increased by 28%

future by selling 1,28,000 units. in other hﬁ:ﬂl’ds. the sales quantity
to off-set the increase of T 7 per unit in variable cost.

Ans. to Q. No. 18.
Present Variable Cost per nit

puted below :

Material <40
Labour < 10
Overheads T 4

T54
SP/Unit = T90 _
C/Unit = SP/Unit - VC/Unit

36 o

PV Ratio = %xwu= 22 100 = 40%

Present Profit= Sales x P/V Ratio — Fixed Cost

40
= — |-1,40,000
(13.50,000:{ 100) 1

= T4,00,000
(i) Future Variable Cost per unit
Material(X 40 plus 7.5%) 343
Labour (X 10 plus 10%) T 11
Overheads (Y 4 plus 5%) X 420
X 58.20
. S-V
P/V Ratio = 3 x 100
40 = 5“553'20 x100

Present P/V Ratio of 40% is to be maintained

Solving, we get -
Selling Price/Unit = T 97

(i) Present Actual Profit is ¥ 4,00,000 which is also desi

; red in the future. Sellin Price epr unit
has remained ¥ 80 but variable cost per unit has become 2 ' e
unit has become T 31.80. ® ¥ 98.20. Hence, contribution Per

No. of units to be sold in the future to maintain the present profit ; ,
Fixed Cost + Desired Profit Profitis computed below :

Contribution/unit
« (140,000 plus 3%)+4,00,000

31.80
= 17,113 unils (approximately).
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ans. to Q:No. 19,

(i First Half
P/V Ratio

BEP

Margin of Safety

(i) Inthe second half, the com
the second half is computed

(iil) Whole Year
Fixed Cost

BEP

]

below

11”]5

Fixed Cost + Profit

P/V Ratio
< 5,00,000 + (~1,00,000)

50%
< 8,00,000
< 5,00,000 + ¥ 5,00,000
< 10,00,000
Fixed Cost _ ¥10,00,000
P/VRatio  50%
% 20,00,000

Sales for the whole year
skt 1'I;'1,4.[].Lj.[]ll:]ll:l + ¥8,00,000

—

(First half) (Second half)
= ¥22,00,000
Hence, Margin of Safety for the whole year -
= Sales—BEP

Ans. to Q. No. 20

Variable Cost
(a) BEP

is 60% O

p—
—

% 22.00,000-% 20,00,000

¥ 2,00,000

f Sales. Hence. PN

Fixed Cost

PV Ratio

0,000 .
%"

40

Ratio is 40%.

Rs, 5,00,000

 conclude thal
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11.36
= ¥6,25,000
(b) Sales at 90% Capacity = 90% of 6,25.000
= ¥562,500 | t
Profit - Sales x P/V Ratio — Fixed Gos
40
= Y _2,00,000
= 5,62,500 X 100
= ¥25,000
Ans. to Q. No. 21.

(i)

Selling Pirce / Unit

Variable Cost/Unit

Material (X 20/kg.)

Labour (X 5/hr.)
Variable Overheads
Contribution/Unit
Computation of Budgeted Profit
Budgeted

Product Units

A 6,400

B 3,200

C 2,400

Computation of Contribution/Unit

A
40

—

|

-h-u:.ll—l- o
lmlmmmc

(-) Fixed Cost
Profit

Per Unit
45 2 88,000

35 1,12,000
40 96,000

| —

_B _C |

120 90 |

|

40 20 |
15 10
30 20
85 40
s a0

Contribution
Contribution

4,96,000
(-) 1.71,200
3,24,800

(ii) Since raw material availability is the limiting factor, the profitability decision has to be taken

Contribution/Unit
Raw Matenal Usage/Unit
Contribution per kg. of raw material

Ranking

Product Units
A 2,400
B 3,200
C 2,400

The amount of maximum profit, as per above recommendation

A

245
4 kgs.

45/4
Z11.25

on the basis of contribution per kg. of raw material, which is computed below :

_B L

T 35 340

2 kgs, 1 kag.
3512 40/1

T 17.50 T 40

Raw Material Used

-___————

Taking into consideration the fact that total raw material consumption cannot be more than
18,400 kgs., the most profitable product combination is computed below :

IS computed below :

Per Unit Total
4 kgs. 9,600 kgs.
2 kgs. 6,400 kgs.
1kg. 2,400 kgs.
18,400 kgs.
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Progu U
g 22‘5[‘2} CA R. K. MEHTA
C nit
2,400 45 Total
35 1,08.000
40 1.12,000
96.000
-} Fixed Cogy 3,16,000
bg;._thM Profi g
Urrent ¢
Variable Cost/Unit Ontribution Analysis
Material (X 20/kg.) X .
Labour (X 15/hr.) " X
Variable Overheads 5 EE
19 15
Selling Price/Unit 90 EQ
Contribution/unit _% 0
i —e 40
i) P _40
(ii) Profit currently earneg by the company
Product i Contribution
xu ﬁ? :.'JtE[} Per Unit Total
Y 19 30 4,50,000
e 40 4.80.000
9,30,000
(-) Fixed Cost 3,965,000
Profit 5 34 00
(iii) Machine Hours available
Machine Hours
Product Current :E;n Ut:t ? 5unT|~_:t:Ir5
R 000 units 2 M. hr. : . hrs.
y o 00 units % M, hr. 9,000 M. hrs.
4 12,0001 16,500 M. hrs,
Contribution per Machine H;ur "
730 Z 40
Cuntributiun! U*nit 0.5 pg b}-‘ﬂmﬁ' Ujsigﬁ?é
M. hrs./unit 0 én R I

Contribution/M. hr.

: bination
: Profltahle Com
Dete rmination of Most achine Hours
per Unit TUE' s
o5 MM 200 W hys
UnP® 075 M. hr. LS00 M.hrs.
Fm?(uct 18,000 (Max-) 16,500 M.hrs.
Y 10'000 ded to sell 18.000 units of

|
Rankingd

X and 10,000
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(iv) Determination of Maximum Profit

Contribution

Per Unit Total
Pl'ﬂill[:t I-ijgggn 30 5,43,000
Y 10,000 4 v
: 9,40,000
(-) Fixed Cost 3,96.000
Profit 5,44,000

Ans. to Q. No.23.
Product P _ % 100
Selling Price/unit

T 6
(-) Variable Cost/unit = ?_43
Contribution/unit = ,_5

Machine Hrs./unit
240

—=38
3

Hence, Contribution per Machine Hour =

Component B—- 15

It can be purchased at ¥ 25 per unit. However, if it Is decided to produce this component, the
relevant cost is computed below :

Variable Manufacturing Cost

Opportunity Cost (2 Machine Hrs. x < 8/M. Hr.)

a O

1
.1

-

%!
M

6

Therefore, it is advised to purchase the component and not to manufacture it.

Ans, . No. 24
Comparative Profitability Statement
Particulars At Present After accepting the offer
Sales (Note = 1) < 6.00,000 3.8,00,.000
Variable Cost
Material (Note — 2) < 1,20,000 < 1,53,000
Wages 2,40,000 3,46,800
Variable Overheads 60,000 85,000
o 4,20,000 9,84,800
Contribution < 1,80,000 <2,15,200
) Fi I '
(—) Fixed Cost | 1,20.000 1.50,000
Profit 60,000 65,200

Conclusion : The offer from the foreign market is recommended

lead to increase in profit to the extent of Z 5,200, ‘o be accepted as it may

Note-1;
Present Sales
(12,000 units x ¥ 50) <6,00,000
Sale in foreign market
(5,000 units x T 40/unit) 2,00,000
Note-2: Present Materials _ X 8.00.000
Present Output _ 1,20,000 |
Proposed Output ) 12,000 units
Present Materials Cost ; 17,000 units
Proposed Materials Cost ) ?;D per unit
— - 8 per unit
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IS ? 1 EU
9,000 x 17,000 g
ts »
‘ mm * __E{_I:I-Tli_t_
Nﬂtﬂ‘ -3 T 1[”{.1”!’:
Present Wages 1,653,000

Proposed Wages Ugnﬂring Inefficie = 3 2,40,000
ncy)

M

2,40, 000 x 17,000 units

Proposed Wages (Considering . = %340 o 12,000 units
g InEfﬁClenEF] = ? 3 . f
i 140,000 plys 29,
Note —4: Present Varigpje Overheags + 35000
| ¥ 60,000
Proposed Vg '
rable Overheags = ¥60,000 x 17000 unit
_ 12,000 units
ns.to Q. No. 25. E % 85,000
Option 1 (To continue)
Contribution -
(500 units x T 1/unit) T 500
(-) Fixed Cost i} 21,500
Loss < 1,000
Option 2 (To shut down)
Fixed Cost = Z1.000
Additional Cost for closing = Z 100
1,100
Hence, the factory should run,
As. 10 Q2. Calculation of Profit and break-even point _
50% capacity 90% capacity
(12,500 units) (22,500 units)
P.U. Total P.U. Total
2 ? ? .
19.40 242,500 19 4,27,500
Sales
. - 50 213,750
Variable Costs: 10 1.%?,.232 9 2 erB00
Material 3 25'000 2 45000
Labour q g 187 500 1450 3,26,250
Variable averneats 4 jm 5000 450 101250
Contribution ( 55000 71.250
Less: Fixed Cost 30,000 32.230
Profit S ——
B.E. Point (In units) 143'3; E 6667
F.C. =~




CA R. K. MEHTA

COST ACCOUNTING 11.40

Ans. to Q.27.

Marginal Cost Statement

Capacity in unils

Selling pnce

Material

Other variable coslts
Total variable cost
Contribution (Sales — VC)
Material used in kg
Contribution per kg (¥)
P/V ratio (C + S)

n
o
HSH

- » 2lals 2B

24%

(i) Total raw material available is 1§.Dﬂﬂ kg ranking on the
of material is Y, Z, X. Thus, on this basis:
2.000 unis of Y @ 1 kg per uint = 2,000 kg

3.000 units of Z @ 3 kg per unit = 9,000 kg

1,750 units of X @ 4 kg per unit =

Profit Computation

18,000
<

7.000 kg (Balance)

Contribution of Y = 2,000 unis x< 15 = 30,000
Contribution of Z = 3,000 units x ¥ 20 = 60,000

Contribution of X = 1,750 units xT 24 = 42,000
. Total = 1,32,000

Less fixed cost (20,000 + 15,000 + 10,000) 45,000
Profit= 87,000

(i) Output 7,500 units. Ranking on the basis of contribution

Contribution of X = 5,000 units x I

24

Contributino of Z = 2,500 unis x< 20

7,500

Total

Less; Fixed Cost

Profit

L4
1,20,000
50,000
1,70,000
45,000
1.25.000

E\Sa!%-c

. akhs

30%

Z
3,000
?

80
30
—10
—40
20

3

6.67
33.33%

basis of contribution per kg

per unit X, Zand Y.

(iii) Total sales limited to ¥ 6,50,000. Ranking on the basis of P/V ratio Z, Y, X

Sale of 3,000 unitsof Z@ X 60
Sale of 2,000 unitsof Y @ T 50
Sale of 3,700 units of X @ T 100

Contribution and Profit

Contribution = Z 1,80.000 x 33—1%

3
-Y 1,00,000 x 30%
- X 3,70,000 x 24%

Total

[ess: Fixed Cost

Ans. to Q.28
Contribution = Fixed Cost + Profit
A =30,000 + .30,000 =2 60,000
B = 16,000 + 24,000 =¥ 40,000

Profit

4
1,80,000
1.00,000
3,70,000

6,50,000

L4

60,000

30,000
_B8.800
1,78.800

45,000
133,800

Contribution per unit A= 60,000 = 10,000 units =T 6

B=X 40,000 + 10,000 units =¥ 4
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"‘Il‘
r [I] EFEEII(-E,,'.EH N
' | oot

Ontrip
30,000 I Ution
— . = DEr
A= =g =5.000ynitc nt
| i : 16
| (ii) Sales at which B~ 25,000

DiffErEn - DinES
" Differ % "2 €qual profi
IEln":‘F"in":“:"""L‘lrilmuth::ur'.

_30.000-16:000 14,040

o= 2 - =7.000 units

(iiif) B Is more profitap|e
(iv) A Is more profitap)e Eit:f i;

4,000 10 7 .
les are 5 000 units,

Furture Desired Profit
Present Actual Profit
Present Contribution - FC
(100 Units) (X 4/unit) — FC
T400-FC

Units to be sold in future to maintain the
present profit
FC +DP i

Contribujtion per unit
FC+3I400-FC

I3
ﬂ = 133.33 units.

3

It means the |
future by selling 133.33 units.

Hence, the sales quantity

Ans. to Q.30. | |
1 Contribution= Fixed Cost * Profit

= 12.000 + Profit

mw uou i

—-_—
 —

-
—

1|

Profit _ o
' = 100% - Variable €
P/V ratio § :IIUU% ook = 40% )
Contribution _ 39_%.;_ -7 50,000
Sales = Nratio A0
. it = e
Selling price per unt = 79,000unis o pory

les-M
2. Break-even point= -‘;CL”BE:Jgg__ g.000 = 40,000

Fixed c0S!
Break-gven point = 5y ratio

IZ'UDO % {}13 or 30%

profit which is presently obtained by selling 100 units will be obtained in

is to increase by 33 1/3% if same profit is desired,

io= 0
P/V ratio = m _z 12,00

| .
| t@%
| 3. At 3,000 units, total €05

i
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At 4,000 units, total cost @ ¥ 3.50 =% 14.000
Difference =¥ _2,000
Difference in cost 2 2,000 _ 2 2perunit

Difference in output 1,000 v
Fixed Cost =% 12.000 — (3,000 units x 2 2) =3 6,000 (i.e. Total cost— V. cost)
B.E. Point = (5,000 x2)+¥ 6,000=% 16,000°
PVrato = Fixed cos! = 6,000 _ 0.375 or 375%

R E.point 16,000
* At B.E.P.. Total sales and total cost are equal.

Variable Cost =

Ans. to Q.31. Smart Exports Ltd.
Satement of Profitability (for 6,000 units) v
Revenue (6,000 units @ T 30) 1,80.000
Less: Cost L
Direct Material Eg agg
Direct Labour 2.4.00[]
Variable Factory ExpsiTlsesEx 13- a00
Variable Office and Selling Expenses , 1 54
Additional Cost _10.000 _1.54,000
Profit __ 26,000

Note: There is no extra fixed cost for the export order. As such, it is irrelevant.

Ans. to Q.32. ‘
+ PN Ratio = D:_f.jﬂ_'rence n;r Profu <100
Difference in Sales
= 3009 . 100 = 40%
20,000

2 Fixed Csot for the first half year = (Sales x P/V ratio) — Profit
= (2 1,00,000 x 40%) - 30,000=% 10,000
Fixed cost for the year =¥ 10,000 +3 10,000 =T 20,000

Fixed Cost
. Profit =
3. Break-even Frofi 57V ratio
B.E.P. for each half year = 10,000 _ < 25,000
40%
B.E.P. for the year = 2220 _ 2 50,000
4%
4. Half-yearly Sale _ Fixed cosi + ?r ofil
PlV ratio
— 10,000 + 40,000 7 1.25.000
40%
20 90,000
5. Annual Sale = 000+90,0 =3 2,75,000
40%
Ans. to Q.33.
Fixed Cost
1. BEP = :
P/V Ratio
2
_ 2,40,000 _ 2 6,40,000
37.5%

. Fixed Cost= ¥ 1,20,000 Staff Salaries
+3 80,000 Office Costs
+¥ 40000 Advetisement Costs
Total =% 2,40,000
Margin of Safety (MS) = Actual Sales - B.E.P.
=% 9,60,000-T 6,40,000=% 3,20,000

————— e ——————— S —
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: 2. At 2D.DDUM
“ Fixed Cost

Variable Cost ¥
Total Cost ( 0.000 x 3 25) 2.40,050

Sales (20,000 2.00 0go

CAR. K. MEHTA

: 60,00
3., Variable Cﬂst e o —20,000
Contribution J; r.,‘:'?“j!‘ With commy:

Sales Requireq

- 0+ 15,000 2,55,000

—_——

4. Increased Selling Pri 12 12 = 21,250 shirty
¥ C =
Varlaple Cost=% 25 ®=Y 40+ 15% =¢ 40+6)=2 46
Contributin (C) = 7 (46 - 25) =7 o4

2,40,000 +2 3300
N00=% 273.000
BEP = _rixedcost 2,73 000

Cﬂntributiun - 21 =13,000shirts
Sales at BEP = 13,000 x ¥ 46 =2 5.98.000

Ans. to Q.34.

Marginal Cost Statement

Net selling price (X 10 — 5% discount) 95
Direct material 3.00
Direct labour 2.00
Variable overhead _2.00
Variable cost
Contribution X 9.50 - 7.00)

F_ M 4,000 units

|

k-even point e g
Brea P ¢ 250 _% 40,000

B.E. Point (inX) = 4.000 units @ T 10 2 000
Less: 5% Discount | Z 38,000

Net sales value at B.E. Point A
When sales ar€ 10% above &

oy, = 4,400 units Z 11,000
Sales = 4,000 + 10% 2250 v 10,000
Contribution (4,400 U7 orofit 21,000

e ————————

" - "
e o L e Ao o dalS
/ﬂ? = ."-'.'!-‘..l‘!lft‘ 'y ETSAT-E A e
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Ans. to Q.35.

Statement of Marginal cost and Contribution

Per unit Total

z (10,000 units) T

(A) Sales 500 50,00,000
Materials 100 10,00,000
Labour 50 5,00,000
Variable overheads 25 2,50,000

(B) Variable cost 175 17,50,000
Contribution (A — B) 325 32,50,000
Less: Fixed overheads 200 20,00,000
Profit 125 12,50,000

Contribution at new selling price = New SP - VC
=%425-% 1756=T 250

Fixed cost + Desired profit
Contribution per unit

Sales to earn a profit of ¥ 12,50,000 at reduced selling price
_ 20,00,000 + 12,50,000 _ 13,000 units

250

Sales to earn a desired profit =

Ans. to Q.36.
PN ratio =

S—V=20—Ic‘.= 2 — 30%
20 20

Fixed cost _ 5,40,000 + 2,52,000
PV ratio 30%

_ %7,92,000
= o =126,40,000

(i) Units to be sold to earn a profit of ¥ 60,000
_ Fixed cost + desired profit _1,92,000 + 60,000
Contribution per unit - 6
Contribution=S-V=20-14=%6

(iii) Suppose units to be sole to earn 10% profit = ‘x’
Total sales = Selling price x units = 20 x
Total sales = Variable cost + Fixed cost + Profit

20x = 14x +7,92,000 + 2x
Thus 4x =7,92,000

' "% =7,92,000 -+ 4

x="1,98,000

Thus, sales to earn a nétyjncome of 10% on sales = 1 98,000 units

Ans. to Q.37.

Contribution = Selling Price — Variable cost
=T 70-X% 20,=% 50 per bucket

(i) Break-even point =

= 1,42.000 units

() B.E.Point (units) = — - ~edC0s! __ _ Rs.50,000
Contribution per unit Rs.50

= 1,000buckets

(i) Required Sales = - ~e4¢0s! + Desired profit _ Rs.50,000 + 30,000
Cuntribution per unit Rs50

= 1,600buckers
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(iii) Sales X 30,000 + 18 CAR. K. MEHTA
21200 bUEk =V C N 00 hUEkETE =7 18
ets x SPlunit F'__C- *‘2 Profit s
T 42
SP / unit + 2?200?1:‘:;1?“"“ 000
Ans. to Q.38. . = 8239 (@pp.) 18.75/unit
Sales (@ 100 per ypy Period | ‘Periodll  Difference
Profit/ Loss (=) = 7.00.000 7 7
: i 9,00,000 2,00,000
P/ ratio = DU?“E"EHC‘E in Pr ofit =) 10,000 10,000 20,000
Difference i —x |00 = 20,000
o | € in sales mxlwzm%
Contribution period | (10, of T 7,00 {]0[}-‘ 000
| Add: Loss in period | ! X 70.000
(a) Fixed cost 3 10,000
Note: Fixed cost = ¥ 80,000

Contributi

ﬂtl'l?:luﬁon — Profit (or Contribution + Loss)
(b) Break-even point = 'Xedcost _ 80,000
PNI'EHD B 10%

Number of units to break-even = 8,00,000 + 100 = 8,000 units

(c) Required sales = Fixed cost + Desired profit
PV ratio

=% 8,00,000

_ 80,000 + 40,000

10%

Ans, to Q.39.
P/ ratio =

Increase in sales
4,20,000 100

~ 15,00,000
., Fixed cos!
(i) Break-even Point = == atio

(i) When sales are Y 30.00.2%22
Contribution = 80,00,000 x

| ess: Fixed cost

Increase in profit 100 =

=% 12,00,000 or 12,000 units

4,20,000
60,00,000 — 45,00,000

x 100

=28%

_ 1400000 _# 50,00,000
28%

22,40,000
14,00,000

catio is 28%, old variable

290 Variable cost per unit will remain
¢ unit will be T 16.
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COST ACCOUNTING 11.44 =
Ans. to Q.40.
Planned profit =¥ 20,000
Add: Fixed cost 12,000
Contribution required 32,000

150-0.75=% 075
0.000 x 0.75 =¥ 30,000
4 _075=2% 0.25p.u.

Contribution per unit
Contribution from 40,000 units
New contribution

A oA A AR AL

o

i units
Additional contribution of 2 2,000 @ ¥ 0.25 p.u. will require 8,000

Total sales required = 40,000 + 8,000 = 48,000 units

Ans. to Q.41.
Under Monopolistic Conditions
Suppose x is the selling price per unit

. Sales = 2,000 X
Variable cost =2 000 x ¥ 100 =% 2.00,000
Fixed Cost =3 37,000
Desired profit =% 2,00,000
S-V =F+P
Or 2,000x — 2,00,000 =37,000+ 2,00,000
X = 4378900 or Ry. 21850 per unit
2,000

Thus., selling price =3 218.50 per unit

Under Competitive Conditions
Suppose x is the selling price per unit

Sales = 10,000 x
Variable coct =10,000x¥ 100 or¥ 10,00,000
Fixed cost =% 37,000
Desired profit =% 2,00,000
Or 10,000x — 10,00,000 =2,37,000
~12,37,000 :
X = 10,000 or¥ 123.70 perunit
This selling price =3 123.70 per unit
Ans. to Q.42.
Sales Profit/ Loss (-)

. f !
At 8,000 umt; 1,20.000 () 40,000
AF 20,000 units 3.00,000 (+) 80.000
Drfferen{:eDﬁ , 1 80.000 120.000

. _ Lijjerence in Profir  1,20,000 2 -
P/V ratio = =— 0Or 66.67%.

Difference in Sales ~ 1,80,000 3

Fixed cost = (S x P/V ratio) — Profit = (3,00,000 x
. Y, 2/3) - 80,000 =
Break-even point = F + P/V ratio = 1,20,000 = 2/3 = ?31 . U{?{? < 1,20,000
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of — CAR. K. MEHTA
argi
(of 3 nnr. 3 M2l Cogy .
. 000 articles fn: ::pig;lnhuunn
ater
[Als @7 29 Per artg
Wages @ 1g . ?
Vanabl " artile 0
1able overh 60,000
ead Factnry@t 10 per ant . 54.000
ling an ¢
d dlﬁt. @ L4 8 per arlicle 222{;{}:
Sales (3.000 articles Marg
@z 65) rainal cost of sales 1,68,000
| 1.95.000
Less.._ Additiona| Packing cogt Contribution 27,000
Additional profit 3.000

Acceptance of this ex

poMt ord 24 000
should '?E accepted Br results in addtional profit of 2 24,000 and thus the order
Note: Fixed overhead hg

. ve not - _
this order because fixed oy PEEN taken into account in deciding the acceptability of

markel. erhead have already been recovered from sale in the home
ns. to Q.44.
(a) The varnable cost of producing the component is shown below
L4
Materials 275
Labour 175
Other vanable costs 0.50
Variable or Marginal cost 5.00
1.25
Fixed cost nent at ¥ 5.75 each
Cn the 908 ol omoks "tmf itt ésigh::;f Ljfi:’:rfnﬂ}s bc:T:;erstuud lhat.the fixed
it | n own cost ol < 0. e 3
hEC;HL!‘E-:nl :1; ll:: ssgl'id if it is decided to buy the WT!“?;’”E“E;‘:::;: Tﬂak“;g ‘é.';; ;:n::if
cosis C . llv cost per ., .
n it will really _
the cnmpunenl] ISS pzu;cl‘;gs:fdﬁf:d ~ost which wil mntg.nue to be incurred and cannot be
se piu | ent.
or ks the fore. advised to make the compof ekl b6 o
saved. |t is BT i then the offer can be accepled as ihe
. nit, )
(b) If the price offered 1S 114-55 per \
saving of 15 paise Pef idy
ted Profit
Ans. to 9.45. (i) Statgmen[ of BUd?: 8 C Total ¥
0 3,200 2,400
- 6.40 120 0
Budged production (units) 140 84,000 216,000 _ 14,96,000
| — 000
Selling price 3 8.96 ﬁ 1 28,000 ;i o
Sales (S) 5';2_;,'000 4ﬂ~§§ﬂ 48,000
Raw maternals 54,000 96. o0 120,000 10,00,000
Variable overnead e _171200
Total variable cost ( ‘

Contribution (S5—)
Less: Fixed cost
Profit
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11.48 CA R. K. MEHTA
*Calculation of Fixed Cost
A = 6,400 units x 9 =% §7,600
B = 3,200 units x ¥ 22 70,400
C = 2,000 units x% 18 432—”%
Total fixed cost = T
(ii) When raw material is e keitf&dm B . C
2 kg kg
Raw material per unit of output 4 ki 3200 x 2 2,400 x 1
Total raw material consumed (kg) Ot o = 6,400 = 2,400
. iy 112,000 _ ¥96,000
- ibuti r kg of raw material 288,000 _ %L =
Contribution per kg = kg, 6.400Kg. 2,400kg.
Ranking M ! |
Suggested sales mix (raw material is the key factor) - 2 400 kg
Rank | — Product C — 2,40,000 units x 1 kg _ 6.400 kg
Rank Il = Product B — 3,200 units x 2 kg (bal } _ g'sgg kg
Rank Il — Product A — 2,400 units x 4 kg (balance k
Total materials available 18,400

Thus the suggested product mix is: A —2.400 units, B 3,200 units and C - 2,400 units

Calculation of Profit

Contribution

Product A 2,400 units @ 45 p.u. T 1,08,000

B 3,200 units @ ¥ 35 p.u. T 1,112,000

C 2,400 units @3 40 p.u. Z 96,000

Total contribution 3 16,000

Less: Total fixed cost 1.71.200

T 1,44.800

Ans. (0 Q.45 Statement of Marginal Cost and Profit
(For current year)

Perunit 60,000 units
L4 L4
Sales 14.300 8,58,000
Direct materials (3.50 + 6%) 3.710 2,22,600
Direct wages (1.25 + 8%) 1.350 81,000
Variable overhead — Factory 3.125 1,87.500
- Sales 0.200 12,000
Variable cost 8.385 5.03,100
Contribution (Sales — Variable cost) 3,54,90
*Fixed cost ) 2,45 850
Profit 1,090,050

Calculation of fixed overhead
Factory overhead — 60,000 units @ T 3.125=% 1,87,500
Sales overhead - 60,000 units @3 0.60 =3I _ 36.000

2,23,500
Add: 10% increase 22.350

Fixed Cost I 245 850
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Statament of Price

ecom :
(For 20,000 um’ts;nunditmn

CAR. K. MEHTA |

Marginal cost (2 8.38
Additional profit requi,rae,; E‘ 0000 units)

L4
167,300
0 — 1.“9‘ 1.5?.?0[]
Selling price per unit (2 2;“9‘::;#&5 uaiue'ﬂﬁﬂl — 98,250
CTIN F 20,000) = —2.29.990

AnS to Q.47
(i)

supplier's price,
Selling price of X

= In this situation, cost of the Y
manufacture should be compared with

Less: Marginal cost ¥ 100
Contribution —£0
Cnﬁtﬁbunun prE'..'I' hﬂur =3 40 - 20 hjr‘g o
Cost of making y = Marginal cost +ECuntr;ill:|utinn lost
2: ?:? 6 (3 hrs. @T 2 per hour)
Cost of Y if bought =X 10

As the cost of making is more than suppliers price, it is advisable to buy it.
(ii) Whnl_1 m_nchinu 99 has idle capacity - In this situation, there will be no loss of
cnntnbt_ltlmj when component Y is made because machine will be idle during that
period if Y is not made. The cost of making will be only its marginal cost of ¥ 5. As
the supplier's price isY 10, it is advisable to make this component Y.

Ans. to Q.48

Present Position

Products Total
X Y Z
- 20 25 0

Selling price X 10 15 _18

[ ess: Variable costX --1-6 10 12

Contribution I 50% 40% = %
| PN ratio 40% 3 o s,n?am.gng

Sales mix ZIUU.QUU 1'T5'DUU 1'22IE?}E 2 20.000

] | 20,

| Sales | 100000 7000 oy
| | les x PV ratio)

Contribution (Sai€ 70,000

| ess: Fixed cost¥
Profit X
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Proposed Position
Products Total
X Y r4
Selling price ¥ 20 25 30
Less: Variable cost 2 10 15 _._1_3.
Contribution ¥ 10 10 —=
P/V ratio 50% 40% 50%
Sales mix 50% 30% 20% 1009,
Sales X 550,000 150,000  1,00,000 -2.00,00p
50,000 2,35,00
Contribution (Sales x P/V ratio) 1,25,000 60,000 0
: 1500
Less: Fixed cost .
T __¢5,000
ProfitI

Conclusion ~ The proposed change should be accepted as it will increase profit vy
< 15,000.

Ans. to Q.49. s
S (';:) Statement of Marginal Cost and Cﬂnfrlhutmn
Statement of Suggested Sales Mix and Profit o
Product Units Raw material  Raw material Contribution
produced per unit (kg.) consumed Per Unit ral
(kg.)

Y 6,000 0.4 2,400 5.60 33,600
X 8,000 0.7 5,600 7.80 62,400
Z (Balance) 1,600 1.5 2,400 12.60 20,160
Total contribution 1.16,160
Less: Fixed overhead 50 000
Profit 66,160

(b) Availability of additional 4,500 kg. of raw material will be used to produce 4,500 + 1.5
= 3,000 units of product Z because the market demand of Y and X products has already

been fully met, Additional profit from this additional product of product Z is computed as
shown below :

L4
Additional contribution (3,000 units @ X 12.60) 37,800
Less : Additional costs

Labour (3,000 x ¥ 12 x 25%) 9,000
Variable overhead (3,000 x ¥ 8.40 x 25%) 6,300 15,300
Additional net contribution 22,500
Less : Additional fixed overheads 20,000
Additional Profit 2,500

Conclusion — The company should go in for the additional production of 3.000 units of Z

product from additional availability of raw material because it will add T 2 500 to the
profits of the company. |
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Calculations :

Ic :
p/V Ratio in 1996 CA R. K. MEHTA
PV Ratioc = Sellin 1
8 Price Per unijt Variab| o
. 260y qselhng Price per uni perunt . o
T 60 <100-X12
Number of units sojg (in 1995} 2 60 x 100 = 20%,

Break-even Point =

Fixed Cos
t
Contributign o = £3:60,000

The margin of safety is 40y, H

EHEE b per Unit T 12 = 30,000 units
reak-even point ; 1 .
or No. of units sold = -E_".r_aﬂ - BVen point pgg‘&%gtuﬁrﬁ:f: of units sold.
80% - — 50— *100=50,000 units
profit earmed in 1996
Profit -

90,000 units x ¥ 12 -33,60,000

¥6,00,000~% 360,000 =2 2,40,000.
Fixation of Selling Price in 1997

variable Cost per unit in 1997 =

T48+34.80=%5280

P/ Ratio in 1996 = 20%
since P/V Ratio is 20%, hence, Variable cost is 80%.
. . i Rs.52.80
Hence, the required selling price = 20% =Rs.66
Number of units to be produced and sold in 1997 to earn the same profit as in 1996
Profit in 1996 = Y2,40,000
= ¥ 3,78,000

Fixed cost in 1997 =
Desired contribution in 1997

= 16,18,000 | |
(s 2140-09{} +3 3'7?"90?997 = Selling price per unit = Variable cost per unit
Contribution per unit in ~ 260-75280=37.20

roducec Desired Contribution in1997

tion per unitin 1997

Number of units to be p

= Contribu
and sold in 1997 Contrib
76.18,000 _g5 833 units
= 77720
. . ﬁ|t kets.
r" E’EEE“P ':51. Fixed cost/ contribution pegglfﬂoﬂ 150 = 1,000 buc
| = ¢2 30,00

i. Buckets to be sold for - EM
=~ Gontribution Pe"

Sales for Desired profit




COST ACCOUNTING

11.52
" ' 4
. Computation of new selling price i
Profit per bucket at sales of 1,600 buckets : 1.12.000 '\
Sales (1,600 x 70) 32.000 |
Less: Variabble cost 1,600 x 20 80,000
Contribution 50.000
Less . Fixed Cost Profit 30,000
18.75
Profit per bucket 30,000/ 1,600 =
Total sales 1,600 + 600 = 2,200 buckets. T 41,250
Total Profit desired = 2,200 x 18.75 =
Let selling price be ‘x’
tion can be made
The #;I::;tgr;?e Esqua ion . Total cost + Profit.
5 200x = 20 (2,200) + 52,000 + 41,250
2.200x = 1.3?250
or X = Z62.39 per bucket.
Ans. to Q.52. e .
. BEP -  Fixed cost/ Contribution per unit
' = 2.40,000/15 = 16,000 units or
= 16.000 x 40 =¥ 6,40,000
Margin of Safety (MS) = Actual sales — Break-even sales
= 24,000 x 40 = 6,40,000
= g.ED.UUU - 6’.401[}00
= T3,20,000
il. Net Profit when 20,000 shirts are sold :
Contribution : 20,000 x 15 ; g-ﬂ”-ggg
L ess /Fixed cols
Profit <__ 60,000
e e ot d et _ Fixed Cost +Desired Profit
. SRR G B New Contribution per unit
_2,40,000 + 15,000
15-3
= 21,250 units
Ans. to Q.53. Computation of Profit as per Proposal of General Manager
1. New Sales Volume (Units 1,00,000 + 5%) 1.05.000
3
2. Sales Value (1,05,000 x 47.50) 49,87,500
3. Cost of Sales :
Variable Cosis = 30,00,000 x1,05,000
1,00,000 31,50,000
Fixed Cost ;
Present = 7,00,000 + 3,00,000 10.00.000
Additional Fixed Cost 1'15'000
Total Costs
42 65
Profit (2) - (3) 228,990
7,22,500
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{’ﬁ;ﬁales Units (1,00,

2

of Prof;
000~ 75 gy Propong
a
sales Value (80,000 x 55 o Sales Manager

CAR. K. MEHTA

3 cost of Sales
variable Cost = 30'00-9_@9_ 7
1,00,000 *90.000 49,50,000
rixed Cost
present 27 00,000
L gss : Saving in Fixed Cost :
TD‘E“ Cost 1[]*““.00”
profit = (2) = (3) ~1.50,000
_— _8.50.000
I —— 3550,000
rhe profit as per the proposal of y

the General Manager. Hence, the

Ans. 10 Q.54.:

(i) BEP

e 8

(i) Desired Sales

. Profit per file

__F__ _ 60,000

S-V  100-4g  "000Files

F+P _ 60,000 + 30,000

S-V  100-a0 - o00fies
_ Rs.30,000
1,500 1520

Sales M
anager is j
Dropo much high
Posal of the Sales Mangg?r :auwgzr::cempttedhe sty

(i) New FC = 60,000 + 2,000 =X 62,000, New Sale = 1,500 + 500 = 2,000 files
Let new selling price per file be 'S’ - .

62,000 +

20 (2,000
(2.000) . -5 500 ( - 40) = 62,000 + 40,000

L]
-

2,000 =

S
2. 000S — 80,000

X S -
= 1.,02,000; or 2,000S = 1,02,000 + 80,000 = 1,82,000

40

Price = 1,82,000 * 2,000 =% 21

s = New Selling
Ans. to Q.55. : I
ibuti ir of chappais

Cnntrrbuiuc:snppfh IZ(I:EI =u pg e 21219

C

PVRato = g~ 100
= 5_?-— x100 = 30%
T30 t
Fixed COS”___
(a) BEP (il’l UnltS) = Eontributiﬂﬂ per unit N
23,6000 _ 40,0009 %"
- 9
00

Fixed COSt _ 712,000 -
BEP (in VE|UE) PN RatiD 4 the pl'ﬂﬁt or l0SS igagnnr}'\lgutﬂd
If 35,000 pairs of chappal® & o ;E,z’iﬂ”—‘l
Sales (35,000 XX ?guou 221) 7 31333?}
_y Variable Cost (992" & 7
(~) Variable Ccmtrlbut‘”" ﬁ

LOSS

(-) Fixed Cost

L‘-‘-‘-i_-r-.- =




